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Part A Earth Atmospheric Ocean and Planetary Sciences

Section Id :

Section Number :

8024371
1



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 15

Section Marks : 30

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 8024371
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 8024371 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which of the following numbers is a perfect square?

Options :

8024371. 48841
58287

8024372.

8024373. DB#03
38262

8024374.

Question Number : 1 Question Id : 8024371 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Rt # & 1 o e ot o 29



Options :
8024371. 48841

58287
8024372,

68763
8024373.

8024374. 38262

Question Number : 2 Question Id : 8024372 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
The surface area of water in a circular well with vertical wall is
30 m2. When an idol made of a material of density 2 g/cm3 is fully
immersed, the water level rises by 10 cm. What is the mass of the
idol?

Options :

300 kg
8024375.

600 kg
8024376.

3000 kg
8024377.

6000 kg
8024378.



Question Number : 2 Question Id : 8024372 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

FEA ZATT AT T FeaTHhTe 50 & 1 7 T30 4% 30 37 H27 g
T TR UF Hia AT (6 2 TOEAATS T qT T304 F a1 g, B

ST FET 2 a7 THT 00 798 10 FHT FI7 35 AT 21 qid 1 35797

T 27
Options :
8024375, 300 T
600 =T
8024376.
3000 =T
8024377.
6000 =T
8024378.

Question Number : 3 Question Id : 8024373 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
The hour and minute hands of a clock are along the same line at a
certain time. They will be collinear next after a lapse of time which
is closest to

Options:

30 minutes.
80243709.



60 minutes.

80243710.

63 minutes.
80243711.

33 minutes.
80243712.

Question Number : 3 Question Id : 8024373 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

e (fora e o7 v At A S T e A I AT | AT T v
T 2| AT T AT T AAT A A GAT HOA T AT (AFACTAT | A

THFEdH 2R

Options :
30 ===

8024379.

60 A=+
80243710.

63 ™A=+
80243711.

33 ==&
80243712.

Question Number : 4 Question Id : 8024374 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is true for the given figure?

Options:

Number of rectangles > Number of triangles.
80243713.

Number of rectangles = Number of triangles.
80243714.

Number of rectangles + 1 = Number of triangles.
80243715.

Number of rectangles + 1 < Number of triangles.
80243716.

Question Number : 4 Question Id : 8024374 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

& T = & o Moty Saedl 9 & #19-97 F6er a7 2 2
Options :

gt it e > Brae i ge

80243713.



ATl o 5T = e i 9T

80243714,
AT A TEAT + 1 = B i T
80243715,
ATl i 6T + 1 < Breet fit /e
80243716.

Question Number : 5 Question Id : 8024375 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
Marks of five students Brijesh, Paresh, Ramesh, Naresh and Suresh
in an examination are distinct. Marks of Brijesh is the average of the
marks of all these students. Marks of Naresh is the average of the
marks of Paresh and Ramesh. Marks of Paresh is the least and
marks of Naresh is more than the marks of Suresh. Who got the
highest marks?

Options :

Brijesh

80243717.

80243718. fYanich

Ramesh
80243719.

Suresh
80243720.



Question Number : 5 Question Id : 8024375 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

T ATt gorer, T4, THYT, 7997 T T4 F TF TOATH I 3 19
2\ T F o 3 AT Pt F ot w7 i g A F ow e v
TR % ST T AT g T T T TG FH g TAT AL F AF G F A
T AT 2| TEE ATEH S [0 A AT 0 87

Options :

ST
80243717. ™

qY9T
80243718.

THIT
80243719.

T
80243720. T

Question Number : 6 Question Id : 8024376 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
In a test attempting all given questions is compulsory. A candidate
is given 3 questions to start with. On every correct answer the
candidate is given 2 additional questions. If the candidate attempted
a total of 11 questions, how many were correctly answered?

Options:

80243721.



80243722.

80243723.

80243724. 4

Question Number : 6 Question Id : 8024376 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

T AT # 57 T T 9977 w7 FAT A= ) T fF AT §

g7 o= %7 3 W 33 I 21 T3 7T S ¥ 2 ATA 1T ToH A7
&7 97 81 7% et v et 5 5w 11 wedt # G, 91 59w e
FT FT HET Ieav f2T?

Options :
80243721. 3
5
80243722.
80243723. 0
4

80243724.



Question Number : 7 Question Id : 8024377 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which one of the following pairs of statements represents negative

feedback in a stimulus-response pair?

Options :
Praise increases performance. Higher performance leads to
praise.

80243725.
Criticism reduces performance.

80243726.
Increase in body temperature results in sweating. Sweating
reduces the body temperature.

80243727.
Reduction in air temperature increases polar ice. Increase in
the polar ice reduces air temperature.

80243728.

Question Number : 7 Question Id : 8024377 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
TATATaT § & FH-A7 FaeT SEII9- A 54T J0H1 FT T TS0
(feedback) Z9TaT 27

Options :

S0243725 TETAT T FOTAAT Tl TETAT 2| T=IaT FATAdT 7 Torar et 2



STATHAT T FAAAT HT T2TAT 5| FIATOAAT & Tad 7 SATAT=AT

gt gl
80243726. =~
T ATTHT & i | THAT A1aT 2| TEEAT a1 | 07 7
ATTHTH =TT 2
80243727.
AT 3 AT # FAT T g o et 1 gy o ¥ e A A
80243728.

Question Number : 8 Question Id : 8024378 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
Maximum retail price (MRP) of each of 3 different brands of biscuits
A, B and C is Rs. 20 per 100g packet. During a festive offer, A is
available at 25% off on MRP, B is available with 25% extra biscuits
for the same MRP, and one packet of C is free on purchase of three
packets of C. If a person wants to buy biscuits for Rs. 60, which
brand should the person choose to get the maximum amount of

biscuits by weight?

Options :

B only
80243729.

Either A or B, not C
80243730.

80243731.



Either B or C, not A

Either A or C, not B
80243732.

Question Number : 8 Question Id : 8024378 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
e foer #ie A, B 7 C ¥ fa=gai % ¥F % 100 g T9 % UF T2 77
ATIFaw g o7 (3799) 20 =77 21 Tt A & 79T A TFE 999
7 25% T/ T ¥ ITTH T, B THT ogH T 25% ATHF fAemar A
TIAH 2 FAT C & A1 e Féiad 7% C FT % T2 {7 3T 2| A%
UF R 60 T & [AFgE GIEAT A1gal g af AT a9 & [Aepe
e 317 % Fe ST 99 32

Options :

FTT B

80243729.

[ '

A 4T B, A& C TZ]

80243730.

B 94T C, @fea A AET
80243731,

A FFaT C, @ B AFT
80243732.

Question Number : 9 Question Id : 8024379 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0.5

The figure shows a circle inscribed in a square.

2
N

If a large number of points are randomly marked within the square,

the expected percentage of points inside the circle is closest to

Options:

92
80243733,

79
80243734.

80243735. 73

80243736. 70

Question Number : 9 Question Id : 8024379 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5



f&T T 5 v = | v e w2

2
N

i3 & | AT AT FEAT H [Aegal T Agog® &7 & ar 90 av 9
T foora feigert it weariorg yiaeraan % FeTw g |

Options :

52
80243733.

80243734. =

80243735. 73

70
80243736.

Question Number : 10 Question Id : 80243710 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5



A F B
If points E,F,G, and H bisect the sides of rectangle ABCD as shown
in the figure, what is the ratio of the areas of quadrilateral EFGH and

rectangle ABCD?

Options :
80243737. 14
7 B
80243738.
80243739. 1:2
21
80243740.

Question Number : 10 Question Id : 80243710 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5



A F B
afz 85 E, F, G 741 H 3=t emra ABCD #it ot #7 5= 7 3o
I TR aTform #7a 2F AT 949 EFGH &7 979 ABCD ¥ &oret &1

ERKIEERIE ¥

Options :
80243737, 14

1:3
80243738.

1:2
80243739.

2:1
80243740.

Question Number : 11 Question Id : 80243711 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
A cube of side 3 cm is made by assembling cubes of side1 cm.

How many small cubes can be counted on the surface?

Options :

24
80243741.

80243742.



25

26
80243743,

80243744.

Question Number : 11 Question Id : 80243711 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

T 3 HHT AT ATAT T 1 TR AT ATA TAT % ST F TMET 4T 2| T8
T HT AT FAAgT TE (A grd A [ q7 A% g 2

Options :

24
80243741.
80243742. 23

26
80243743.

27
80243744.

Question Number : 12 Question Id : 80243712 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5



Diamonds of a particular quality are available in 4 different sizes,

whose prices are given below.

Size (carats) | Price (rupees/carat)
0.25 50,000
0.5 100,000
1 200,000
2 400,000

What are the minimum and maximum numbers of diamonds that

can be purchased for Rs. 400,0007

Options :

1and 8
80243745.

1 and 32
80243746.

2and 8
80243747.

2 and 32
80243748.

Question Number : 12 Question Id : 80243712 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5



T AT IE=AT F 57 4 TN ATew ® IUered g, ot fvwa A= A
- 5

ATET (F42 H) | 9T (77 71 F42)
0.25 50,000
0.5 100,000
1 200,000
2 400,000

=TT 400,000 & TS AT T ATA 01 AT AT T ATHFwAT AT

T 27
Options :
178
80243745.
1 17 32
80243746.
2T 8
80243747.
2 T 32
80243748.

Question Number : 13 Question Id : 80243713 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5



The pointer of a spring balance is offset from zero. This balance
showed a weight of 8 kg for an object A and 6 kg for another object
B. When A and B are weighed together, the balance showed 16 kg.
The true weights, in kg, of A and B, respectively are

Options :

4 and 6
80243749.

10 and 6
80243750.

10 and 8
80243751.

80243752, ©ands

Question Number : 13 Question Id : 80243713 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

T FHAEIT qT &1 72 77 & BfeT (dfwa2) 21 T 3 Teg A 77 9%
8 T 7 &1 7+ B 7 917 6 {37 29111 | St A 74 B &1 T UF ATA
AT T 7 AT 7 16 T g9t A v B &7 At A1, A §, 79 P

Options :
4T 6
80243749.
0Td 6
80243750.

80243751.



10T+ 8

8T 8
80243752.

Question Number : 14 Question Id : 80243714 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Consider a moving object whose velocity v varies with its position

x as shown in the given plot.

il
S

Which of the following plots showing the change in position with

time is admissible for the above object?

Options :

80243753.

<

80243754.



rll

80243755.

80243756.

Question Number : 14 Question Id : 80243714 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

U MAHT TG T a3 v A% 4T x % A7 59009 T SA1T % JAT
qivafad g gl

v

2 | P
N

= =,

TEG F FAT T TR F ATT THAGT 3q 2907 % g FIA-A7 =T
=TT 7

Options :

80243753.



80243754.

n

| \/\
80243755.

x[}f{j/,z*

‘ / * [
80243756.

Question Number : 15 Question Id : 80243715 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
In a ten-digit mobile number 999ABCDEEE, A, B, C and D are

distinct prime numbers. The mobile number is never divisible by

Options :

80243757.

80243758.

S
80243759.



80243760.

Question Number : 15 Question Id : 80243715 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
T TH-AHT HIETEA HiE 797 999ABCDEEE, § A, B, C 797D 9=

AT FEATY 2 | TF HIAEA Tl 797 (AeAterad 8 & e w=r
AT AE 5 2

Options :

80243757.

80243758.

80243759.

80243760.

Question Number : 16 Question Id : 80243716 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

A person invests a certain amount of money. Whenever the amount
gets exactly doubled, he donates Rs. 200. After four such donations
he is left with Rs. 200. The initial amount of money he invested was

rupees

Options :



80243761. 1600

80243762. 800

400
80243763.

200
80243764.

Question Number : 16 Question Id : 80243716 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

T ST T TAT9= & T &7 9= F7aT 2| o 1 g 77097 319 T

2T ST g, 78 417 =77 200 T F7 397 g1 T THE F =17 319 % ST
TEF T ETT 200 F99 F1 IF 51T (At Wi a=e o =,

il

Options :

1000
80243761.

800
80243762.

400
80243763.

200

80243764.



Question Number : 17 Question Id : 80243717 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
| bought some bananas for Rs. 120. The vendor gave me two extra
bananas and in the process incurred a loss of Rs. 10 per dozen on

the earlier price. How many bananas did | ultimately get for Rs. 1207

Options :

18
80243765.

16
80243766.
80243767. 14

12
80243768.

Question Number : 17 Question Id : 80243717 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

9120 F7F § FF 7 G5 Fwar 9 & & A7 8% § 70 AT 7
A= & AT &1 Tl H0HT 6 g1 § 10 T TT 79 &7 J7eT
T T & 120 T 7 AT w7 we?

Options :

18
80243765.

80243766. 16



14
80243767.

12
80243768.

Question Number : 18 Question Id : 80243718 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
The difference between the ages of a boy and his father is same as
that between the father and grandfather Five years earlier, the

grandfather was twice as old as the father. The present age of the

boy is

Options :

5 years.
802437609.

7 years.
80243770.

8 years.
80243771.

9 years.
80243772.

Question Number : 18 Question Id : 80243718 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5



TE AEE 1Y A (AT A A U AT T TET AT A H A a7 g
T T O, TRT 7 A AT o o 7 &7 9 o A A TN A

Options :

599
80243769.
80243770. 739

8 79
80243771.

9 TT
80243772.

Question Number : 19 Question Id : 80243719 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
In a triangle ABC, AB=8, BC=14, and CA=12 units. Circles are

drawn with centres at A, B and C, such that they touch each other

externally. The radius of the circle around A is
Options :

80243773.

80243774.

80243775.

80243776.



Question Number : 19 Question Id : 80243719 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

feft Brqer ABC # AB=8 7#T%, BC=14 T#T%, 9 CA=12 T5T §1 A, B
TAT C & &% 195 AT &7 99 39 778 a9 A9 2 1% o TF gAY Fl q1g]
F9 FA Z1 A FT 75 HH F7 A9 T 9 6 Brear g

Options :

80243773.

80243774.

80243775.

80243776.

Question Number : 20 Question Id : 80243720 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
A certain multiple choice question has four options of which at least
one is correct. If a student answers at random choosing at least one
option, what is the probability that the student selects the exact

combination of correct option(s)?

Options :



1/3

80243777.
1/4
80243778.
1/12
80243779.
1/15
80243780.

Question Number : 20 Question Id : 80243720 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

) 11

T3lT W99 & T97 F 97 (4507 g (90 7 79 9 59 UF T97 8| IE Fe

faemdt argfee® =7 7 =[AaR UF fweT w9 w7 I A g A

Tt g ia: A2t AweT (FFeT) & Fa0e FA #f qTEEar ]
grtT?

Options :
1/3
80243777.
80243778. 1/4
112
80243779.
1/15

80243780.



Part B Earth Atmospheric Ocean and Planetary Sciences

Section Id : 8024372
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 35
Section Marks : 70
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 8024372
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 80243721 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5
Compared to the Earth, Neptune is approximately 30 times farther

away from the Sun. Its period of revolution around the Sun (in
Neptune years) would be

Options :

1
80243781.
80243782. 30

165
80243783.

423

80243784.



Question Number : 21 Question Id : 80243721 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

e 1 o] H U U TH 30 T SR 3P g W R 81 391
T4 o 36-F1E T05Y T &f o (o o H) Sa erf

Options :

1
80243781.
80243782. 30

165
80243783.

423
80243784.

Question Number : 22 Question Id : 80243722 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

The Earth is shaped like a/an

Options :

Oblate spheroid
80243785.

Oblate geoid
80243786.

80243787.



Prolate _sp heroid

Everest spheroid
80243788.

Question Number : 22 Question Id : 80243722 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Jedl U 39 SHTHR o4l §

Options :

e ATy
80243785.

qUc Y=Y
80243786.

GIEI& TATH
80243787.
80243788. i B

Question Number : 23 Question Id : 80243723 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which one of the following minerals determines the strength of
the Earth’s continental crust?

Options:



Feldspar

80243789.

Mica
80243790.

Quartz
80243791.

Amphibole
80243792.

Question Number : 23 Question Id : 80243723 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

S8 Y DIF U1 0P QS el & HgTgIurd quet & Horggl ol YR
P17

Options :

s WR
80243789,

qgH1
80243790,
80243791. )

80243792.



Question Number : 24 Question Id : 80243724 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

If the attitude of the two limbs of a fold was measured as 263°/29°N

and 351°/40°E, the fold axis will plunge in which one of the following
quadrants?

Options :
North East
80243793.
South West
80243794,
80243795. North West
South East
80243796.

Question Number : 24 Question Id : 80243724 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

g¢ U 9a- & &l Ur=dl & Ughd 263°/29°N TaH 351°/40°E HTU!

T, g 3ef [y Iqui= | Sfa94 siil?

Options :

SR gd

80243793.

80243794. a_f&{m tl_f%“:[



IR Uiy

80243795.

aferor g

80243796.

Question Number : 25 Question Id : 80243725 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
Which one of the following is the fastest spreading ridge on
Earth?

Options :

Mid-Atlantic ridge
80243797.

Southwest Indian ridge
80243798.

East Pacific ridge
80243799.

Carlsbad ridge
802437100.

Question Number : 25 Question Id : 80243725 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
U] UR 38 I &IH 91 U a4 gl f[d&R ded 672

Options:

80243797.



A9 3cdilch dheh

cTm-ufsy YRdla $ch
80243798.
Udf U=Mid ded
80243799.
BIAES Feh
802437100.

Question Number : 26 Question Id : 80243726 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is TRUE for a disconformity?

Options :
A gap in the geological record bounded below by igneous
rocks and bounded above by sedimentary rocks.

802437101.
A sequence of rocks that does not contain any gap in the
geological record.

802437102.
A gap in the geological record where the strata below and
above an erosional surface are horizontal.

802437103.

A gap in the geological record bounded below by tilted
sedimentary strata and bounded above by horizontal

sedimentary strata.
802437104.



Question Number : 26 Question Id : 80243726 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

U AOYHGI & o7 590 O &9 91 9ol 672

Options :

YT ef¥era ¥ Ue S=Rid ol & Al o=y dl td W
Ul Udl Y PRI B

802437101.

i siffrerg d foqT fhdt of<Rid ard 20 &1 Uh S-HHhH |

802437102.

YU SMiYE § U S=RId 961 UG- 9dg & -id ud
SR B R &faeT g

802437103.

YT effteRd H U sRie Sl i AiE # 3o gu sEurdl
IRl ¥ 6 SR &fds sfadrel wdl 9 BRI g

802437104.

Question Number : 27 Question Id : 80243727 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
In the Earth’s interior, the increase of P-wave velocity at 670 km
discontinuity is caused by phase transition from

Options :

olivine to spinel.
802437105.



garnet to perovskite.
802437106.

olivine to perovskite.
802437107.

B-spinel to y-spinel.
802437108.

Question Number : 27 Question Id : 80243727 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
gedl & AARS YT H 670 km SRIIAA W P-IRI Tid 39 U
TG & HRU 96d! o

Options :

3icitdi 9 R

802437105

TMHe ¥ RABISC

802437106.

3eldH ¥ RARBISC

802437107.

B-FHd 9 y-Rrd

802437108.

Question Number : 28 Question Id : 80243728 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0.5

Which of the following minerals exhibit maximum number of cleavage planes?

Options:
Calcite
8024371009.
802437110, >alena
Fluorite
802437111.
Sphalerite
802437112.

Question Number : 28 Question Id : 80243728 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
40 W &M 91 Gl Sl fqgad ddl &1 U1 & UGlRid Sl
g7

Options :

8024371009.
802437110.
802437111.

802437112.



Question Number : 29 Question Id : 80243729 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which one of the following boundaries approximately represents
the Great Oxidation Event (GOE) in the Earth’s history?

Options :
Proterozoic-Paleozoic

802437113.

802437114, Archean-Proterozoic

Mesozoic-Cenozoic
802437115.

Paleozoic-Mesozoic
802437116.

Question Number : 29 Question Id : 80243729 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
= el # 4 oF W S Al & side H Iided: Hel-
37T geHl (GOE) &1 Ufaffid Hdl g2

Options :

UIeRISlg® — Ucisisiigd

802437113.

802437114.



AYlsd — A5 H

802437115.

Udlsfslig® — d4islisd

802437116.

Question Number : 30 Question Id : 80243730 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which one of the following clay minerals is devoid of iron?
Options :

Chlorite
802437117.

802437118. Glauconiie

802437110, Chamosite

Kaolinite
802437120.

Question Number : 30 Question Id : 80243730 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

i

=94 I B U TP JhisT Wil die o Had 67

Options :

802437117.



HARISC

RIRCAGIE
802437118,
802437119 )
FHAEAET
802437120.

Question Number : 31 Question Id : 80243731 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Precambrian rocks are exposed in which of the following
cities?

Options :

Mumbai
802437121.

Delhi
802437122.

Lucknow
802437123.

Bhuj
802437124.

Question Number : 31 Question Id : 80243731 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

=9 e} | U fhud $irm—-ud d sifiefRia gidi 872

Options:

EEH
802437121.
802437122.
802437123.
802437124.

Question Number : 32 Question Id : 80243732 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Extensive living coral reefs occur in which of the following

places?
Options :
Silvassa
802437125.
Kovalam
802437126.
Kavaratti

802437127.



Diu
802437128.

Question Number : 32 Question Id : 80243732 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

5 I fhy STTe IR U Siltdd Uard ar urdt St 82

Options :

g

802437125.

802437126.

802437127.

802437128.

Question Number : 33 Question Id : 80243733 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which one of the following forces inhibits plate motion?

Options :

Slab pull
802437129.

Ridge push
802437130.



Trench suction
802437131.

Basal drag
802437132,

Question Number : 33 Question Id : 80243733 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

ST 9l 8 4 I 91 UH Wie & Tid I Uy HIdl o2

Options :

gg 3THYUT
802437129.

Heh [AHUT
802437130.
802437131.

YR TAH YU
802437132.

Question Number : 34 Question Id : 80243734 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which of the following symmetry operations would give a result
similar to an operation of a bar 6 symmetry axis?



Options :
A 6-fold symmetry axis with a mirror plane perpendicular to

it.
802437133,

A B6-fold symmetry axis with a mirror plane parallel to it.
802437134.

A 3-fold symmetry axis with a mirror plane perpendicular to
it.
802437135.

A 3-fold symmetry axis with a mirror plane parallel to it.
802437136.

Question Number : 34 Question Id : 80243734 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

=70 T DI JERUd] Y4d, IR 6 ERd] 38 & U Yaiad &
A gRomd e

Options :

] - e : T e ] T
soragyrgy P OO FHRAT 3(&f & d9EY UPh GUU IdE o

Udh 6- 9 HE U] 38 & HMHIGY UPh U Jde o |
802437134,

Ueh 3- 9 GHEUA] 3& & daey Udh GUUl ¥dg o
802437135.

Udh 3- 9 GHEYAT 38 & MR Uh U Jde 6
802437136.



Question Number : 35 Question Id : 80243735 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

The texture in a graphic granite can represent which of the
following stages of crystallization in the Albite-Silica binary

system?
Options :

At liquidus in the albite rich composition
802437137.

At liquidus in the silica rich composition
802437138.

At the eutectic point
802437139.

At the temperature below the eutectic point
802437140.

Question Number : 35 Question Id : 80243735 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

YT T I1ge | B 64, Uedlge-iadn fg=r yomet #, g4
HLCTIHRU IR0 H Y BIF Udb b1 FEg0] B Gl 57

Options :

I asY IR Tearge YR AaieA

802437137.

802437138.



oS WR [T ugR daeH

el @hifde dY fag IR

802437139.

T hifdd dd fdg 9 &1 aaaHE R
802437140.

Question Number : 36 Question Id : 80243736 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

The masses of the Earth's crust, its mantle and core are in the

ratio 7: 690: 303. Then their contributions to the Earth's
gravity field will be in the ratio

Options :
7:690: 303
802437141.
303: 690: 7
802437142.
802437143, +303: V690; V7
V72 +/690: 303
802437144.

Question Number : 36 Question Id : 80243736 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5



Ul & UUE, UIaR U9 IS & GoudMl Bl SHUTd 7: 690: 303 G
3(d: Yl &l o &3 & felU 3771 NG 39 uTd | BTl

Options :
7: 690: 303
802437141,
303: 690: 7
802437142.
802437143, 503 ¥690: V7
V7:/690: v303
802437144,

Question Number : 37 Question Id : 80243737 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

The Earth’'s magnetic field in the mantle

Options :
is zero everywhere, due to high temperatures
802437145.
increases sharply with depth
802437146.
decreases sharply with depth
802437147.

attains a finite constant value
802437148.



Question Number : 37 Question Id : 80243737 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

AR ¥ gad] &1 Jdd g &F

Options :

3{feId AIIHA & HRUT T 571 TR &
802437145.

MfiRar & 9y 2Mydr @ dedr g
802437146.

THRTT & 91y e Y gedi &
802437147.

s uRfid RRI® U &idr o
802437148.

Question Number : 38 Question Id : 80243738 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

If o1, 02 and o3 are the principal stresses, then which one of the
following stress states is uniaxial?
Options:

g1202203>0
802437149.

J1 = U,Ug# U, G':a.:U
802437150.



g1 #0, 02=0,03=0
802437151.

01 =02 =03 0
802437152.

Question Number : 38 Question Id : 80243738 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

qle gy, 0o AT 03, A Ulded &, 79 399 ° DIF 1 TP Uldad Sfaw

UH1ET g2

Options :

o1202203>0
802437149.

1 - U,Ug-f- U, 0':3.=U
802437150.

g1 #0, 02=0,03 =0
802437151.

J1=02=03 0
802437152.

Question Number : 39 Question Id : 80243739 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

The 27-day periodicity of magnetic storms observed on the
Earth is attributed to

Options:



rotation of the Sun around its axis.
802437153,

802437154 rotation of the Earth around its axis.

revolution of the Moon around the Earth.
802437155.

rotation of the Moon around its axis.
802437156.

Question Number : 39 Question Id : 80243739 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
Ul R Wdfed e ia @M o 27-Rady sradiar sod defid §

Options :

Y &1 U 3fel IR YU
802437153.

gl BT U & TR guH
802437154.

ged] & IRI SR I=01 & RGBT
802437155.

TG H BT 39 378 IR gUiH
802437156.

Question Number : 40 Question Id : 80243740 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0.5

The magnitudes of two earthquakes A and B are measured on

Richter scale as 6 and 5 respectively. Which of the following
inferences is valid?

Options :
The energy released in A is 10 times that of B.
802437157.
802437158, The amount of destruction in case of A is 30 times that of B.
The ground motion in case of A is 10 times that of B.
802437159.
Earthquake A is 1.2 times deeper than B.
802437160.

Question Number : 40 Question Id : 80243740 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
&l Y&l A Td B & URAI &1 AU Reex UHH W HHL: 6 U4 5
1 T | 59 9T 3HET H © B 91 HR 67

Options :

AHHI S BH 10T 8

802437157.

AT Ui ST AT Y30 T8

802437158.

AP RURTIAIBI 10 TS

802437159.



YHJ A, HHbUB I 1.2 T

802437160.

Question Number : 41 Question Id : 80243741 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

According to the NUVEL-lI model of global plate motion, the

correct sequence of the plates in increasing order of their
angular velocity with respect to the Pacific Plate is

Options :

802437161 South America — Antarctica — India — Nazca

802437162, Antarctica — South America — India — Nazca

802437163, South America — Antarctica — Nazca — India
Antarctica — South America — Nazca — India

802437164,

Question Number : 41 Question Id : 80243741 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

df¥d e Tid & NUVEL-l 5isd & 39K, U=Iid &ie & §iue &el
BT Y, ITd DI IS Sgd BAH TG &

Options :

=& 3AReT — 3ieThicdT — URd - AT5®]
802437161.



3icThicdT — fémT MRPI- HRA - AT5®H1

802437162.

8T AERFH - 3feThicHhT — Aoh] — HRd
802437163.

3ieTh el — Gfém ARDI- ATo®HT — HRd

802437164.

Question Number : 42 Question Id : 80243742 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

The duration of the Cretaceous Normal Superchron (CNS) is
about

Options :
25 Ma
802437165.
802437166, 0 Ma
802437167, 30 Ma
50 Ma
802437168.

Question Number : 42 Question Id : 80243742 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5



eI YR ASTHTA (CNS) BT AT HHT I6 &

Options :
25 Ma
802437165.
802437166, 0 Ma
802437167, 30 Ma
50 Ma
802437168.

Question Number : 43 Question Id : 80243743 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

The S shadow zone on the Earth is nearly

Options :
802437169, same as the P shadow zone.
two times the P shadow zone.
802437170.
three times the P shadow zone.
802437171.
four times the P shadow zone.
802437172.

Question Number : 43 Question Id : 80243743 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

gedfl IR S-BTT &F THT 6 ©
Options:

P —STT &7 ST 6l

8024371609.

P —STT & ¥ &I 7T

802437170.

P —3T4T & T ol T[T

802437171.

P —STT & ° =R T

802437172.

Question Number : 44 Question Id : 80243744 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

For seismic wave propagation, the Earth acts as

Options :

high cut filter.
802437173.

low cut filter.
802437174,

all pass filter.
802437175.



high pass filter.
802437176.

Question Number : 44 Question Id : 80243744 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Y& T TR & forg gt ug Hrf ddl §
Options :
3= HIc Tl
802437173.
802437174. PIC ¢
gd e g
802437175.
3=d [HH™ Tadl
802437176.

Question Number : 45 Question Id : 80243745 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

The ray path of a body wave propagating through an isotropic,
radially symmetric layered Earth model is

Options :

a curved path due to the spherical shape of the Earth.
802437177.

802437178.



a straight line.

a curved path due to linear increase in velocity with depth.
802437179.

a curved path due to dispersion.
802437180.

Question Number : 45 Question Id : 80243745 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

U GHG RIS, AT 1 Y YAFY WRd gyl Alsd & 3red 4
UTRd Uh &1 a3 &1 {0 gy I8 ©

Options :

gdl & TMdIhR g4 &I d5ig 9 U 9l Uy

802437177.

e e 3

802437178.

TR & 91y 97 H WA gis & HRUTGh 1Y gy

802437179.

H%Uhaﬁaaﬁﬁaﬁﬂm}

802437180.

Question Number : 46 Question Id : 80243746 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5



Which one of the following is NOT an autotrophic organism?

Options :

Noctiluca
802437181.

Diatom
802437182.

Copepod
802437183.
802437184, Vodularia

Question Number : 46 Question Id : 80243746 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
=95 U ®H 1 U WU Sitg T8t 67

Options :

FiaeegabT

802437181.

L
802437182.
802437183.

802437184.



Question Number : 47 Question Id : 80243747 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
Which one of the following is true for ocean?
Options :

[HCO3] > [CO3%] > [H2CO4]
802437185.

[HCO3] < [CO3?] < [H2C 03]
802437186.

[H2CO3] > [HCO3] > [CO32]
802437187.

[CO2*] > [H2C O3] > [HCO4]
802437188,

Question Number : 47 Question Id : 80243747 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
T & [0 399 T &I 1 UP ol o7

Options:

[HCO3] > [CO3?] > [H2CO4]
802437185,

[HCO3] < [CO3?] < [H2C O3]
802437186.

802437187.



[H2C O3] > [HC O3] > [CO5?2]

[CO3?] > [H2CO3] > [HCO3]
802437188.

Question Number : 48 Question Id : 80243748 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Redfield ratio refers to the

Options :
ratio among the different conservative tracers in the ocean.
802437189.
ratio of calcium to magnesium in foraminifera.
802437190.
mean molar ratio of carbon, nitrogen and phosphorus in the
organic matter.
802437191.
ratio of carbon, nitrogen and phosphorus in the surface
802437192. WaIEES;

Question Number : 48 Question Id : 80243748 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Ysfthes U Sfid rar e

Options:



g # {aft= srufRad-ardl sl & did 3urd

802437189

T RIFHIGRT | SicRrad 9 AffRrs o1 eurd

802437190.

HleHD Uar! o @red, A1sciod Ud BRHRY &1 319d HleR
3T

802437191.

el ofd H ®leH, A5clod Ud BRHRY &1 30T
802437192.

Question Number : 49 Question Id : 80243749 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which one of the following fishes is a mesopelagic fish?

Options :

Argyropelecus affinis
802437193.

Eurypharynx pelecanoides
802437194,
802437195, Ceratias holboelli

Deep-sea angler-fish
802437196.



Question Number : 49 Question Id : 80243749 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

g4 Tl § DI 9T U HH-3gefl Ty 62

Options :

SRR Y U114
802437193.

EE -
802437194, )

R gicased!
802437195.

THR IR WER 3
802437196.

Question Number : 50 Question Id : 80243750 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

What type of a marine environment would have slowest rate of
recovery from a large oil spill?

Options :
cyclonic gyres

802437197.

anticyclonic gyres
802437198. y 9y



highly productive waters
802437199.

cold environment with little wave action
802437200.

Question Number : 50 Question Id : 80243750 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
Udh 9o dd A I [59 ISR & IR maia gR ey i
& O Ugd oY fRufa &t O wifeg ghfte

Options :
802437197.
yfcrersardt qui
802437198.
HfIITEARIT ST
802437199.
e T {shaT & 91y 2iiae ugiaro
802437200.

Question Number : 51 Question Id : 80243751 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which of the following satellite does NOT provide information
on oceanic bathymetry?



Options :

GEOSAT
802437201,

ERS-I &I
802437202.

Coastal Zone Colour Scanner (CZCS)
802437203.

TOPEX/Poseidon
802437204.

Question Number : 51 Question Id : 80243751 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

=78 O S 91 IUTE INRI MERATI St STHBRI A8l odl 62

Options :

GEOSAT
802437201,

ERS-1 T4 ||
802437202.

dcra &= gui faanfaere (czes)

802437203.

TOPEX/UITSIH

802437204.

Question Number : 52 Question Id : 80243752 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

The magnetic North Pole is currently migrating from Canada
towards which of the regions given below?

Options:

Greenland
802437205.

Siberia
802437206.

lceland
802437207.
802437208, 1\Merica

Question Number : 52 Question Id : 80243752 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

qaAH § Jad i I 4d, HAST U 34 Aid 68 T H 9§ {69 B
RFIR R BT 62

Options :
802437205.
802437206.
w} g %,

802437207.



802437208.

Question Number : 53 Question Id : 80243753 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which one of the following DOES NOT influence the Latent
heat flux at the air-sea interface?

Options :

atmospheric pressure
802437209.

wind speed
802437210.

relative humidity
802437211,

evaporation
802437212,

Question Number : 53 Question Id : 80243753 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

AT, RIS TR 570 E $IF F7 U T ST aTe $I uHifad
Tet Bd1 62

Options :

qgHSdY ard
8024372009.



GIERIIG]

802437210.

qTafere 3med

802437211.

802437212.

Question Number : 54 Question Id : 80243754 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which one of the following processes can be related to the
‘continuity equation’?

Options :
Divergence or convergence at a given horizontal level leads
to vertical velocity.
802437213.
Ocean currents tend to flow parallel to isobars due to the
802437214, Coriolis force.
The upward pressure gradient force is almost in balance
with downward gravitational force.
802437215.

Wind-driven turbulent mixing generates a mix layer in the

upper ocean.
802437216.



Question Number : 54 Question Id : 80243754 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

sTH § B Il U ufchar gida IHIEHI0r § Ydfdd 5l & di 672

Options :
U U &fas dd U= 3[qER0T g7 S{fHER0r SEieR fd &I gk
gl g |
802437213.
HIRTIY 96 & HRU 9MR YR JAGE] & IHHIA 96 DI
eI HIA G |
802437214,
3 Td Yauidl §d Ud Al vd 99 aH Sqad 0§ |
802437215.
W IR H arg-Aiierd 31=0d HyvE U@ B9 98 &1 394
HIATE |
802437216.

Question Number : 55 Question Id : 80243755 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Select the CORRECT group of forces which are primarily

considered in the derivation of Ekman spiral in the upper-
ocean.

Options :

wind stress, pressure gradient, friction
802437217.



wind stress, Coriolis force, friction

802437218.

pressure gradient, Coriolis force, gravitational force
802437219.

wind stress, Coriolis force, gravitational force.
802437220.

Question Number : 55 Question Id : 80243755 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

ol a1 & YHg B I OF®1 SU3T IR H veha ufdd & ogaf
4 9 EU Y [99R (a1 a6

Options :

qrg ufdad, G Ugurdl, g8o]
802437217.
802437218.

&Td Yqurdl, $IRAl Y dd, Tod dd
802437219.

arg ufded, SRy 9d, Tod 94
802437220.

Question Number : 56 Question Id : 80243756 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5



For which one of the following ocean waves, surface tension is
the principal restoring force?

Options :
W

802437221, Internal waves

Tsunami
802437222.

Standing waves (Seiche)
802437223.

Capillary waves
802437224,

Question Number : 56 Question Id : 80243756 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

39 [0 T 9PR 90 H § B 91 U6 & (AU ¥de a9 59 U
YT 97 82

Options :
—
802437221.
802437222.
&ol al (TRAd GlH)
802437223.

802437224.



Question Number : 57 Question Id : 80243757 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
River discharge is estimated on the basis of
Options :

Unit hydrograph
802437225.

Hyetograph
802437226.

Rating curve
802437227.

802437278, Current meter

Question Number : 57 Question Id : 80243757 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

et fagsia &7 3Mdhd- 59 YR UR fhar Jdr g

Options :

SHIG STARY
802437225.
802437226. i

802437227.



YR 9%

YRT HIYD
802437228.

Question Number : 58 Question Id : 80243758 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

The highest variability of annual rainfall in India is observed
over the

Options :

Thar desert region
802437229.

Assam valley region
802437230.
802437231, Central India

East coast of India
802437232.

Question Number : 58 Question Id : 80243758 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

W?WWWW&%MN e SHUR Udaferd faa
EiGI|

Options:

8024372209.



YR AO=Id &

3T 91T &7

802437230.

802437231. HH

HRd D] dc
802437232, Igjf

Question Number : 59 Question Id : 80243759 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Littoral drift is the volume or mass of sediment transported by

Options :

longshore current and wind-drift
802437233.

beach drift and rip currents
802437234.

swash and wind-drift
802437235.

longshore current and swash
802437236.

Question Number : 59 Question Id : 80243759 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0.5

Jfdcit dIg 3 ATYIG BT AT 91 Go0HM ¢ ol & 59 1 gl
aRT 3Udlied BIdT &

Options :

ddidl ¢RI Ud 9T
802437233.

gfer d1e Ud Rl
802437234,

J1d- U4 91g dTg
802437235.

dogd! 4RI Ud I
802437236.

Question Number : 60 Question Id : 80243760 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

A drainage system, which has maintained its general direction
across an area of localized or regional uplift is known as

Options :

annular drainage.
802437237.

antecedent drainage.
802437238.

truncated drainage.
802437239.



offset drainage.
802437240.

Question Number : 60 Question Id : 80243760 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5
U 3(Udle dF o U RIFEY 41 8319 3YME & 3R-UR 3Ud
I fe=n 1 SR & 31 ©, U8 deard o

Options :

CISEICAREE EEI
802437237.

.WW

802437238

FUsd 3{Udig

8024372309.

3fdcd 3(Udlg
802437240.

Question Number : 61 Question Id : 80243761 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0.5

In an iscbaric/adiabatic process the temperature that is

attained in an isobaric process when water vapour, present in
a sample of air is condensed, is called

Options :

wet bulb temperature.
802437241,



virtual temperature.

802437242.

equivalent temperature.
802437243.

dew point temperature.
802437244,

Question Number : 61 Question Id : 80243761 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Udh HGE /R ufthar |, 98 I9AF Sl f Udh JHaEm
yfchar # 591 & 1A § IUTRUT 9™ & Y9 §F IR U §idT ¢,
T Heddl o

Options :

99 ded dIgHE
802437241.

U YA
802437242.

THH dTIHE
802437243.

s fdg amaaH
802437244.

Question Number : 62 Question Id : 80243762 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

The concentration of the trace gases by volume in the lower
troposphere in decreasing order is

Options:

Nitrous oxide; Carbon dioxide; Methane: Nitric oxide
802437245,

Methane; Nitrﬁus oxide: Nitric oxide; Carbon dioxide
802437246.

Nitric oxide; Methane; Carbon dioxide; Nitrous oxide
802437247.

Carbon dioxide; Methane; Nitrous oxide; Nitrogen dioxide
802437248.

Question Number : 62 Question Id : 80243762 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

(T effuHSd § SfeTHmET 191 B 3 & I9R Figdl 9ed HH |

U5
Options :
A5cy SHags; Bl SRAFIss: HiUT: Aslcd A Es
802437245,
i ARCH s ; A5cy Jdugs; Hle- SlEAHHES
802437246.

q5cy s s: HiUT: B4 SEAaEs: Ascd AdSs
802437247.



BaA S5 3aues; HIU; A5y Saqgs; A1ge o
SR3lGS

802437248.

Question Number : 63 Question Id : 80243763 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which one of the statements about satellites in the geo-stationary
orbit is INCORRECT?

Options :
They orbit at a height which is about 5.6 times the radius of
the Earth.
802437249.
They move in the opposite direction of the Earth’s rotation.
802437250.
They complete a single orbit in one sidereal day.
802437251,
GSAT and INSAT satellites are placed in geostationary
orbits.
802437252.

Question Number : 63 Question Id : 80243763 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

JeIBTd! 3UUE! & aR H 5944 I BIH U1 HYH TAd 67

Options :



d 39 Gdls & HETWR 6 ol Ul Bl AT 61 5.6 TAT S |

802437249.

d gl B gulH Bi el [GMHA AT B |

802437250.

d 3Tl FH&fl Bl Uh dR Udh & [¢aq H gl Hd 6 |

802437251.

GSAT U4 INSAT SUE qeddcl hafmsl H §

802437252.

Question Number : 64 Question Id : 80243764 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

In the ICAQO Standard Atmosphere (ISA) the lapse rate
(*C/km) in  the 11- 20 km layer is

Options :
802437253. 93
9.8
802437254,
- 0.001
802437255.
802437256. 0

Question Number : 64 Question Id : 80243764 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

ICAO HF® dHSd (ISA) & 3TIR 11- 20 km Hdg H g &3
(°C/km) TG §

Options:
802437253. 95
9.8
802437254.
- 0.001
802437255.
802437256. 0

Question Number : 65 Question Id : 80243765 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

The seasons on the Earth occur primarily because of

Options :

the variability of the earth’s distance from the sun.
802437257.

shifting of ocean currents.
802437258.

802437259, the tilt of the Earth’s axis of rotation.



the jet stream.
802437260.

Question Number : 65 Question Id : 80243765 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

e IR B3l & o B I3 HRUITE &
Options :

ad ¥ gl B gdl H uRafdd

802437257.

GG URTSM BT IR0
802437258.

g2l & Ui Mgl BT b1 BT
802437259.

o 4RI
802437260.

Question Number : 66 Question Id : 80243766 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Which of the following is a diabatic process?
Options :
802437261. Convection

Orographic lifting
802437262.



Radiational heating or cooling
802437263.

Rising air due to convergence in the Planetary Boundary

Layer (PBL).
802437264.

Question Number : 66 Question Id : 80243766 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

=90 9 & I1 Udh Ulde< ™ Uidhdr o2
Options :
Tdg-
802437261.
gddig 3aM
802437262.
CIERUKGIPER I RIGEE!
802437263.

o YR &R (PBL) H SR & 6RUT 3R 91

802437264

Question Number : 67 Question Id : 80243767 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Rossby number is a ratio of

Options :



inertial force to Coriolis force.

802437265.

mechanical production to buoyance.
802437266.
802437267, inertial force to viscous force.

inertial and gravitational force.
802437268.

Question Number : 67 Question Id : 80243767 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

R =T U U ©

Options :

Soddd 9 BRI dd &1
802437265.

i IdIgA U Iacdad Bl
802437266.

Sled dd Y HEdd &l
802437267.

T8d Ud T¥d 9 Bl
802437268.

Question Number : 68 Question Id : 80243768 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0.5

The rate of change of relative circulation following the motion
for a barotropic atmosphere can NOT change due to changes in

Options :

802437269 meridional location.
area of domain.

802437270.

802437271 zonal location.

802437272 inclination of domain.

Question Number : 68 Question Id : 80243768 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

19 Y@ aHSd o foU T1fd BT SR Hd §U e TREER0l
& gRadRIeal &1 &= 5 IR & HRU 964 gl gbdl

Options :

AR Rufa
802437269.

U&a &1 AR
802437270.

et =ufg

802437271.



PREECARIEIR

802437272.

Question Number : 69 Question Id : 80243769 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

The time interval between consecutive ‘Spring Tide' and ‘Neap
Tide' is

Options :

14 days
802437273.

1 day
802437274.

28 days
802437275.

7 days
802437276.

Question Number : 69 Question Id : 80243769 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

U & §1¢ U 98 S9R U4 dY SOR & s &1 HY S=R1d gidl
&7

Options :

14 a4

802437273.



802437274.

28 f&q

802437275.

7 e

802437276.

Question Number : 70 Question Id : 80243770 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

The cone of depression in groundwater forms

Options :

around a dry well
802437277.

in the freshwater of a fast-pumped flow well.
802437278.

in the salt water intruding from the sea to the well.
802437279.
802437280, N @ sink hole.

Question Number : 70 Question Id : 80243770 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0.5

Uold § (g9 9 9dT ©



Options :

g9 $HU & IRI 3R

802437277.
802437278. U dil § OF §U R U S HIS 5
802437279. TS W e 3 THDH o H
gl 3 |
802437280.

Part C Earth Atmospheric Ocean and Planetary Sciences

Section Id : 8024373
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 80
Number of Questions to be attempted : 25
Section Marks : 100
Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 8024373
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 80243771 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



Sense of Shear (SoS) plane is defined by which one of the
following combinations?

Options :
The SoS plane is parallel to foliation and perpendicular to
stretching lineation.

802437281,
The SoS plane is perpendicular to foliation and parallel to
stretching lineation.

802437282.
Both foliation and stretching lineation are parallel to SoS
plane.

802437283.
Both foliation and stretching lineation are perpendicular to
SoS plane.

802437284.

Question Number : 71 Question Id : 80243771 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

=YY BT 919 (SoS) UdE 54 TaioHl # U [dhdl Th U gRHId
gId1 87

Options :

SoS g ch & YHMEIAR U4 a0 AU & IHE(ER §
802437281.

S0S Idg Ych- & I@IER Td d-9 U & YHHIR ©
802437282.

802437283.



Yeh-] Ud d- TG0l G-I SoS & YAMIAR &

JIceh1 Ud 0 @Vl &I SoS & IR §

802437284.

Question Number : 72 Question Id : 80243772 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Match the following :

Deformation setting Structure
A. | Convergent P. |Tulip structure
B. | Divergent Ramp Anticline

Q.
C. | Strike-Slip Transpression |R. |Metamorphic Core Complex
D. | Strike-Slip Transtension |S. |Palm tree structure

Choose the correct option.

Options :

A-Q:B-5;C-P;D-R
802437285.

A-Q:B-R;C-S:D-P
802437286.

A-R;B-S5;C-P;D-Q
802437287.

A-5B-R C-Q D-P
802437288.

Question Number : 72 Question Id : 80243772 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1.32

eI NIGIGE
fawuur f[9arg GIIH]
A | SIYERT p. | oJfcTd I
B | SIUYRI Q. | Y7 3Afd
c | Afddd guu-uR R | PAART Bls
REIRE| Ay
D. | Afdds gdu - S | T & G-
JRd-d
Yol [ddhed ol 942
Options:
A-Q:B-S:C-P:D-R
802437285.
A-Q:B-R;C-5.D-P
802437286.
A-R:B-S:C-P;:D-Q
802437287.
A-SB-R:.C-Q:D-P
802437288.

Question Number : 73 Question Id : 80243773 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Coulomb’s law of failure differs from Byerlee’s law of failure in
which one of the listed characteristics?

Options :



Defines a failure envelope.

8024372809.

Applicable for intact homogenous rocks.
802437290.

Law for shear failure.
802437291.

Includes a coefficient of friction.
802437292.

Question Number : 73 Question Id : 80243773 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Geltd B [qerdl &1 9 FoRier & f[dbdd & Ha9 9 39 giuas
8T | © ford v i1 82

Options :
U fAthd 3M19d &1 ARAT Bl §
802437289.
802437290. R ﬁlﬁ aﬁ ﬁqu %
MR=YUT f[d%hadr & forg fAad
802437291.
Ud gYUT T[0T I YiEferd ®Rdl o

802437292.



Question Number : 74 Question Id : 80243774 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

The following assemblage of foraminifera are recorded from

bottom to top of a stratigraphic section :
Uvigerina, Bulimina, Globorotalia

Eponides, Lenticulina, Textularia
Quinqueloculina, Ammonia, Cibicides
Trochammina, Ammobaculites, Miliammina
The stratigraphic section represents

Options :

Lowstand System Tract.
802437293,

Highstand System Tract.
802437294,

Transgressive System Tract.
802437295,

Falling Stage System Tract.
802437296.

Question Number : 74 Question Id : 80243774 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



U WRST UM & FW Y Hid db BRITHEBI & 59 YIS I
3ffuyferiRad fopam T -

TGHIZST, A plcrT], CRETNTT

[P, SHIS, I sd

CIBIR, SIGGAZCH, [T

TR SHTHIT ST Uil el ©

Options :

freT dfeyfa gomeft

802437293.

I=3 gfeyfa gomet

802437294.

Sffcreh Tt wfRyfa yomredt

802437295.

U TRUT GRYT Yurrelt

802437296.

Question Number : 75 Question Id : 80243775 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1.32
Which one of the following statements is correct?
Options :
Load cast forms by erosional processes.

802437297.

802437298.



Groove mark represents deformational feature.

The bounce mark occurs at the top of a sandstone bed.
802437299.

Current crescent forms against an obstacle.
802437300.

Question Number : 75 Question Id : 80243775 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32
[ Sy T ¥ & H 91 U Tol 672

Options :

ReA Uil § diehie s9d1
802437297.

faR=ur Faur &1 Wifad s ufaffia srar g

802437298.

91 TR TR & Y IR ITafe I 9 g |
802437299.

14T & 3% 4RI IUTHR §9d1 5|
802437300.

Question Number : 76 Question Id : 80243776 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



A grain-supported limestone containing around 10% lime mud

is known as

Options :

packstone.
802437301,

grainstone.
802437302.
802437303 wackestone.
802437304. Haatsione.

Question Number : 76 Question Id : 80243776 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

TTHIT 10% T G TR U HU-GAT gHAIRR S 59 SHT
SITdl &

Options :

gufcd-ueR
802437301.

HU-URR
802437302.
802437303.

dl-UeiR

802437304.



Question Number : 77 Question Id : 80243777 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Consider the following thermobarometric equations:
Reaction A: KAISIaOg + NaAlz(SizAl)O10(OH)2 = NaAlSizOg +

KAIz(SisAl)O10(OH)2

Reaction B: Mg3Al2Si3012 + KAI2(SisAl)O10(OH)2 =

KMgs(SizAl)O10(OH)2 + 2ALSiOs + SiO»

Which of the following is TRUE for reactions ‘A’ and B'?

Options :

802437305.

802437306.

802437307.

802437308.

‘A’ is an example of barometer; ‘B’ is an example of
thermometer

‘A’ is an example of thermometer; ‘B’ is an example of
barometer

Both ‘A’ and ‘B’ are examples of thermometers

Both ‘A’ and ‘B’ are examples of barometers

Question Number : 77 Question Id : 80243777 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



59 fad T qru-ard Aifue HIBROT IR [99R & :

fhaT A : KAISisOs + NaAlz(SizAl)O10(OH)2 = NaAlSiaOs +
KAl2(SizAl)O10(OH)2

fhATB : MgsALSiz012 + KAI(SisAO10(OH)2 =
KMga(SizAl)O1g(OH)z2 + 2AI:SiOs + SiO3.

fchaTdl ‘A’ 94T B’ & [T 549 @14 Hat 67

Options :

‘N’ T GIIHITS Bl IS0 & ‘B’ Udh dIUHIUS &I IGI60 o
802437305.

‘A’ U dTUHTdH BT 31630 &: ‘B’ Udh GIIHID &I a6 o
802437306.

‘A’ T4 ‘B’ G| dTJHTIS T IG5 &
802437307.

[ 3 . i ] - U =
502437308, A’ U4 ‘B’ &1 GI9HIIS BT 3G &

Question Number : 78 Question Id : 80243778 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Which one of the following textures explicitly form during
decompression stage of a metamorphic P-T path?

Options :

802437300, Corona texture

Granoblastic texture
802437310.



Normal growth zoning in garnet
802437311.

Spherulitic texture
802437312,

Question Number : 78 Question Id : 80243778 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32
T4 T DIF °1 U 16 Wred] Ud HIaTaRul P-T 9y & fadfysd
RO & SR §7d1 572

Options :
8024373009.
USR] T3
802437310.
e 8 9reRor fde g asfiao
802437311.
WHEdrsel 164
802437312.

Question Number : 79 Question Id : 80243779 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Choose the correct sequence of minerals that are usually
crystallized from the cooling of magma (High-T to Low-T).



Options :

MQQSiO,::, — CQQMQE,SiaOQz{OH}Q — MQQSiQOE —+ Kﬁ!SiaDa

— KMgs(SisAl)O10(OH)2
802437313.

NaAlSisOg — CEIQMQ5SiaO22(OH)2 — KA|2(Si3A|)O1{}(OH)2

— Si02 — KAISi;Og
802437314

MQQSi04 = MQQSiEOE — Cagmgﬁgigc}zg(DH)g —

KMgs(SizAl)O10(OH)2 — KAISisOs
802437315.

KAISisOs — NaAlSiaOs — Mg2Si20s — SiO2 —

KAIl2(SisAl)O10(OH)2
802437316.

Question Number : 79 Question Id : 80243779 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32
Al & gl HH B 91 S G U6 QddieRol gid JE1 Y
fohediad gan (3<d -T ° (H4H-T).

Options :

Mg;;SiD,a — CEZMQﬁSiSOQZ{OH}Q — MQESiQOE —* KF’\!SiaDB

— KMgs(SisAl)O10(OH)2
802437313.

NaAlSisOg — CEIQMQ5Si3022(OH)2 —¥ KA|2(Si3A|)O1{}(OH)2

— Si02 — KAISi3Os
802437314

802437315.



MQQSiO4 —> MQQSiEOE — CHQMQE.SEBOQQ(OH)Q —
KMga(SizAl)O10(OH)2 — KAISi3Os

KAISisOg — NaAlSisOs — Mg2Si20s — SiO2 —

KAl2(SizAl)O10(OH)2
802437316.

Question Number : 80 Question Id : 80243780 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32
Which one of the following mineral pairs are NOT polymorphs?
Options :

Quartz - moganite
802437317.

Chrysotile - Lizardite
802437318.

802437319, Anatase - Brookite

Marcasite — Chalcopyrite
802437320.

Question Number : 80 Question Id : 80243780 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32
= i T § g B 91 Uh 98¢ 61 672

Options:



gdres] — ANTHSC

802437317.

HECEd - ereige
802437318.

TATCY - gHIRe

802437319.

A& NI5C — Al URRISC
802437320.

Question Number : 81 Question Id : 80243781 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

A homogeneous liquid with binary components FeO - SiO:

cools, at a constant pressure, to a temperature at which it
unmixes to form two liquids of different compositions. On further
cooling to the complete equilibrium crystallization,

Options :
there would be four minerals, two crystallizing from silica rich
liquid and two from FeO rich liquid.

802437321.
the silica rich liquid would crystallize a silica mineral, while the
FeO rich liquid would form a glass.

802437322.
there would be fayalite and a silica mineral in eutectic
proportion.

802437323.

802437324.



there would be a fayalite within a glass separating it from
silica mineral.

Question Number : 81 Question Id : 80243781 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Ud [RRI® g1d |, fg=R 9P| FeO - Si0, aTd Udh TASY d3d &l
U d9qH 59 R a5 &l f[af= Jae & @va § Afiyd siare &
AR e Bidl o1 U0 IHaRT FIAHU B RE 3R 3
Fided W

Options :

IR @ g4, &l [{fereT YR aRd U U4 &l FeO UdR akd 4|

802437321.

RferpT U= dXd Ueh ffeidhT Wis Siedid o S, Sidid
FeO U=k d3d U hid a1 |

802437322.

TeGifdd A # BrIdrse Ud [fcdt @i a1 |

802437323.

Bid & 35 BRIdIge a1 51 54 fufeidT Wi § gyd & |

802437324.

Question Number : 82 Question Id : 80243782 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



In an unconfined coastal aquifer, the depth to groundwater table

in a well is 1 m. The well is situated at an elevation of 2 m above
mean sea level. What should be the depth of freshwater-saline
water interface below the ground surface?

Options :
802437325. e
802437326. 42m
80 m
802437327.
38 m
802437328.

Question Number : 82 Question Id : 80243782 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

U ST a¢H SaYd & U $U H YoId dd ®I THRAT 1m B
B ATYd JE9dE 9 & Hicx &1 $ai R Ud g1 Yude 9 Hié

STd-AR S SdRIYSS ] THRAT &1 giHT digu?
Options :
802437325, 40 M
802437326, +2 M
80 m

802437327.



38 m
802437328.

Question Number : 83 Question Id : 80243783 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

The ‘depleted mantle’ model age of a rock, as calculated using
Sm-Nd systematics is 2.5 Ga. It means that

Options :
the isotope ratios "Nd/'**Nd in source of this rock at 2.5
Ga were the same as in the depleted mantle at that time.
802437329.
this rock crystalized at 2.5 Ga.
802437330.
the 7Sm/"Nd and the "**Nd/'*Nd ratios in the rock were
same as that in the depleted mantle at 2.5 Ga.
802437331.
The terrane that it is fdund in, formed at 2.5 Ga.
802437332.

Question Number : 83 Question Id : 80243783 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Sm-Nd a1 § T0HT &f T T A D *Sderdt WaR Jisd 3y
2.5 Ga &l 3P HAAH ¢

Options :

802437329.



=9 Ud & Iid H GH™YTHD] 43Nd/44Nd BT 3-1d 2.5 Ga
R Id-1 ol 4T ford=1 b 39 999 & dadl UraR § o7 |

S Ud P [hicdldHv] 2.5 Ga TR g2 |
802437330.
A & 47Sm/144Nd TUT ¥3Nd/144Nd 3UTd I ol U o I
A& AR § 2.5 Ga W AT |
802437331.
g5 YHIT [SRIH T8 U™ 911 6, 2.5 Ga TR a1 4T |
802437332.

Question Number : 84 Question Id : 80243784 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Paired metamorphic belts, which juxtapose HP/LT and LP/HT
metamorphic belts, are typically associated with

Options :

greenstone terrains
802437333,

convergent plate margins
802437334,

mid-oceanic ridges
802437335.

transform plate boundaries
802437336.



Question Number : 84 Question Id : 80243784 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

gfrd raidid ufedi, Sl HP/LT 9T LP/HT $raidiRd ufedi &l
3T UTY o1l §, 3162 =9 & $Ub 91y Fefed gidi ¢

Options :

BIRAURIR YUTT
802437333.

STHYRT wie 39id
802437334.

q-Yag! dheh
802437335.
802437336.

Question Number : 85 Question Id : 80243785 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



Which one of the matches is correct for the stratigraphic unit
and their ages?

Stratigraphic Unit Period
A | Dhosa Oolite E Palaeogene
B Karai Shale F Cretaceous
C | Maleri Formation G | Jurassic
D | Lakadong Limestone H | Triassic
Options :
A-E, B-F, C-H, D-G
802437337.
A-G, B-F, C-H, D-E
802437338.
A-G, B-E, C-H, D-F
802437339.
A-G, B-H, C-E, D-F
802437340.

Question Number : 85 Question Id : 80243785 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



S8 U B U1 Ud [WaH WRIdd 5Pls Ud SUD! 31 & (U Je!
g?

TRIPd 55 G|
A Rl Jrdlgc E NREISIE
B HG U = fhe g
C AR BTHIH G | W®
D ATBISIT AT TRR H | oy
Options :
A-E, B-F, C-H, D-G
802437337.
A-G, B-F, C-H, D-E
802437338.
A-G, B-E, C-H, D-F
802437339.
A-G, B-H, C-E, D-F
802437340.

Question Number : 86 Question Id : 80243786 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Porphyry type Cu-deposits are formed in which of the following
tectonic setting?

Options :

Spreading centre
802437341.

802437342.



Oceanic island arc

802437343, Continent-continent collision

Continental arc
802437344,

Question Number : 86 Question Id : 80243786 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

RGBS UHR Cu-Het 598 ¥ 69 [9ade oga=n d §99d 572

Options :
R &g
802437341.
802437342.
802437343.
Helgdig =91g
802437344,
Sub-Section Number : 2
Sub-Section Id : 8024374
Question Shuffling Allowed : Yes

Question Number : 87 Question Id : 80243787 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

The Fourier transform of a function f(t) is sin w. Then, the

Fourier transform of t%f(t) is

Options:

sin w
802437345,

sin w?
802437346.

w? sin w?
802437347.

w? sin w
802437348. '

Question Number : 87 Question Id : 80243787 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

U%h W f(t) B BIRY FURY sin w § | 99 t2f(t) BT HRY
SR &

Options :
sin w
802437345,
sin w?
802437346.
w? sin w?

802437347.



2 w
802437348, ¥ St@

Question Number : 88 Question Id : 80243788 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1.32
An input signal x(n) = {2, 1, -1} is passed through two serially

connected linear time-invariant systems h1(n) = {1, -1} and h2(n)
= {-1, 1}. The output signal y(n) will be

Options :

{0,0,0, 0}
802437349.

£2-3.0 .13
802437350.

221034
802437351.

o2y 3y=T5-3)
802437352.

Question Number : 88 Question Id : 80243788 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

U [ x(n) = {2, 1, -1} DI &l AAHHS I AP GHT-3Td
IR h1(n) = {1, -1} TUT h2(n) = {1, 1} GRT IR fda1 71|
fTtd Habd y(n) T GBI

Options :

802437349.



{0,0, 0, 0}

243,013
802437350.

(2. % 1.3 1
802437351.

SN W
802437352,

Question Number : 89 Question Id : 80243789 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

A spherical ore body with a density of 3.0 gm/cc is surrounded

by country rock of density 2.7 gm/cc. A gravity profile across
the body recorded an anomaly of 0.1 mgal at a distance of

100 m from the position of the maximum gravity anomaly, which
is 0.3 mgal. The ore body weighs (in units of 10° tons)

Options :
0.45
802437353.
802437354, 1.50
2.25
802437355.
4.50

802437356.



Question Number : 89 Question Id : 80243789 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

TS Tdig s fUg fodT 99d 3.0 gmice §, U9 QMY I
[org@1 99d 2.7 gmicc & 9 TORT g3 §1 3i¥dHdH o fa9id,
Sl fdh 0.3 mgal &, ®! TUT T 100 m T W 39 (U & 3RUR U
e UIRdlH 9 U 0.1 mgal Bl [q97fd 3HciRad B oo U
HTHR G (106 i Bl 5IIg H)

Options :
0.45

802437353.
802437354. 1.50

2.25
802437355.

4.50
802437356.

Question Number : 90 Question Id : 80243790 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



The following figure shows a sketch of an E-W gravity profile

across a sulphide vein. The maximum anomaly occurs at point
O. Then, the vein dips due

/
/ %
S
W 0 E
Options :
east and its top lies towards east of O.
802437357.
west and its top lies towards west of O.
802437358.
east and its top lies towards west of O.
802437359.
west and its top lies towards east of O.
802437360.

Question Number : 90 Question Id : 80243790 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



fear T fost U Gehigs RRT & SRUR E-W Td URdfad &I
I UaiId Bl ¢ Ay [agifd fdg 0 W gl ¢ dd RBRT
39 3R Afd Bl

A
e

W 0 E

Options :

Ud Ud I 2N O & Ud Bl P [BUd 3

802437357.

afe ud 39dT MY O o Ul & diWb [RUd ¢l
802437358.

Ud Ud 3BT 2N O & UiEH B R [Ud ol
802437359.

Of%H Ud 39T Y O & Ud B % RId 3
802437360.

Question Number : 91 Question Id : 80243791 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

X, Y and V are the components of the Earth’s magnetic field F, X

being along the geographical north. H is its horizontal

component and i and & are its dip and declination respectively.

Then, at a place on the Earth's surface where F is minimum, the
Xcosd+Ysind

value of Vsmi+Hcosi |g



Options :

1
802437361.
V312
802437362.
802437363. 172
132
802437364,

Question Number : 91 Question Id : 80243791 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

HITeTe IR o A14-W1 Ted gU Jedl b Y & £, X & 1
X Yaul vV &l H-&fdS 9c® &, / Td 5 HH: 59 Aid U4 feadrd

Xeosd+Ysmmd

&1 9 Uyl R 3Y ®IFH R 9Gl £ [HFdH G, Vsini+Heosi &I AM
Tt

Options :

1
802437361.
802437362. V32
802437363. 12

112

802437364.



Question Number : 92 Question Id : 80243792 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

The distance between the points of the maximum and minimum

anomaly values along a total field anomaly profile across an
anomalous body resembling a single pole is 224 m. If the
magnetic latitude of the place of survey is 30°, then the depth to
the pole is

Options :

112 m
802437365.

100 m
802437366.

86 m
802437367.

72 m
802437368.

Question Number : 92 Question Id : 80243792 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32
Udhd Wi oY U (49T U8 & SR-UR Ud G & [a¥ld urd =
& GIY-Y1Y Il U4 ([H=ay fagmid g & fdgai & dfd &t gl
224 m G| & & RIH &1 AlG d96 14 &2 30° 5, TH dP TRl
g el

Options:

802437365.



100 m

802437366.
86 m

802437367.
m

802437368.

Question Number : 93 Question Id : 80243793 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

In the time-distance plot for a seismic survey over a two-layered

medium, the travel time at which the direct P wave intersects the
refracted wave is 3s. Estimate the depth to the velocity interface,
assuming the slope of the direct wave to be 0.5s/km and the
velocity of the lower medium to be twice the velocity of the upper
medium.

Options :

1.73km
802437369.

2.73km
802437370.

3.73km
802437371.

4.73km

802437372.



Question Number : 93 Question Id : 80243793 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

[g-d% H1e0H & HWR U YDhUlg el & feft GHY g3l Sfieid &,
et P-THT B 3UTd T & Hied B IHT AT 3s ©1 g AH o
b el O D1 STt 0.5s/km T 4=TaR A0 i TTfd Iedak A1eqd
@I T G S R, T SIARITSS B RIS BT B B

Options :

1.73km
802437369.

2.73km
802437370.

3.73km
802437371.

4.73km
802437372.

Question Number : 94 Question Id : 80243794 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Assume that a Poisson solid is subjected to a longitudinal stress

(0xx) while the transverse stresses are zero. Then, the
Young's Modulus(E) in terms of Modulus of Rigidity (u) will be

Options :

E=pn
802437373.



E=1.54

802437374.

E=2.5u
802437375.

E=3pu
802437376.

Question Number : 94 Question Id : 80243794 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32
A o {6 TP UIg9 619 &1 U 3G Uad (0x) B e
T Seid 3R Uided X 6| dd €gdl & 0N () & IR
T BT (E) T G

Options :
E=pn
802437373.

E=1.5u
802437374,

E=2.5p
802437375.

E=3pu
802437376.

Question Number : 95 Question Id : 80243795 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1.32

Which one of the following statements is correct?

Options:
Zero-offset rays are always perpendicular to the data
acquisition surface.
802437377.
Receiver arrays are used to suppress ground roll.
802437378.
Time migration honours ray bending across an interface.
802437379.
Dix's method of estimating interval velocity is valid for any
surface model as long as all layers are isotropic.
802437380.

Question Number : 95 Question Id : 80243795 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

=18 9 &9 91 U YT 9ol 672

Options :

- 3fdald fh 0l SHR MBS 2o Jag I od gidl o
802437377.

Toldl o &1 39N HH §a4 & 3AaRIY & U a1 S ¢ |
802437378.

3{qiY UMY Udh HdRUSS & SRUR {0 Y31 DT GHMH Bl

gl
802437379.



oI do fdh 9T 96 GRS 6l fadd &1 2dR0d Tid 3dHad &Y
foredt off wag wisd & fau ae giaT &

802437380.

Question Number : 96 Question Id : 80243796 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

A country rock at temperature T, is intruded by a thick dyke at

temperature T,,, (T,, > T.). Assuming that the temperature of the
dyke remains constant with time, the temperature in the
country rock away from the dyke contact will decrease as

Options :

an exponential function
802437381.

a linear function
802437382.

a hyperbolic function
802437383.
802437384, 2N €rTOr function

Question Number : 96 Question Id : 80243796 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



U HICl 35® oS d9HM T, (T, > T.) & U6 1T Ad
ORI dUHE T, ©, & 3fax s dxdl ol M d & S5 31
JTIHH THT & 1 RR GAI 5, WA Ad H S5 & 9udh ™UHE Y

X Pl R dIHE D [TR1EC 59 U g 9 gl
Options :
ErRIRIGAR NG|
802437381.
802437382.
802437383.

i Bad

802437384.

Question Number : 97 Question Id : 80243797 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

An oceanic plate is moving away from the spreading center at a

speed of 6 cm/yr. Assuming that the plate motion is constant
with geological time, the location of the Gauss - Gilbert
paleomagnetic epoch boundary from the spreading center
will be at approximate distance of

Options :

155 km
802437385,

185 km
802437386.



215 km
802437387,

255 km
802437388,

Question Number : 97 Question Id : 80243797 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

U Y& Wic 6 cm/yr @1 11d § PR s 4 G A6 6l A d [
YIS FHT & T Wie Tid RBR G, TR & J T9- fee Qw11

e 14 I AT AT T 59 g W gl
Options :
155 km
802437385.
185 km
802437386.
215 km
802437387.
255 km
802437388.

Question Number : 98 Question Id : 80243798 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



Two current electrodes C1(+l) and C2(-1) are placed 1000 m apart
on the Earth surface and 5 Ampere current flows through the
subsurface. Two potential electrodes P1 and P2 with electrode
separation 10 m are placed between C1 and C2 such that midpoint
of P1 and P2 is located at 400 m from the midpoint of C1 and C2. If
500 mV potential difference is measured between P1 and P2, then
the apparent resistivity (in Qm) will be (do not use approximate
formulation)

Options :
802437389. 410
802437390. 518
802437391. 618
802437392.

Question Number : 98 Question Id : 80243798 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

&l YR fAEGU C1(+1) TUT C2(-1) Y2l Bl Fdg W 1000 m X 3@ T
& Ud 3uyas 4 5 UEER &l YRT 65 6! 6| (996 Uyddl 10 m &
1Y & {ayd fde[ey P1 T4 P2 $I C1 U4 C2 & ol 8 dvg X1 6 (b
P1 U4 P2 % Y [4g C1 Td C2 & A foig T 400m o3 | U 5
gi¢ P1 U4 P2 & dfd 500 mV &I fdUdicR AT T, d9 Ul
UioRTe Tl (Qm H) g BT (Hsde B0 BT WarT el H)

Options :



418

802437389.

802437390. °18
802437391. 618
802437392. s

Question Number : 99 Question Id : 80243799 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

If in an electromagnetic survey, dip angle is measured over widely

spaced vertical conductors along a profile, the number of false
crossover in the dip angle anomaly will be

Options :

802437393. 1

802437394.

802437395.

802437396.

Question Number : 99 Question Id : 80243799 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1.32
% [dgadadiy gdau ¥ U6 URdid & 9-gY X ®i1Hd
SR HaATeD| B HUR AlIbIV BT HIGH a1 74T, Afdpior fawfd
¥ Ffe fafm &t 9@ gg grft

Options :

802437393.

802437394.

802437395.

802437396.

Question Number : 100 Question Id : 802437100 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1.32

An over pressured zone encountered in borehole logging is
characterized by

Options :
high porosity and high densit
802437397. I Y 9 Y
low resistivity and low density
802437398.

low resistivity and low porosity
802437399.



low porosity and low density
802437400.

Question Number : 100 Question Id : 802437100 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

qyferg Yo H aRAd d Us e a9 &F &1 594 Iid
fer=roT fopar ST ©

Options :

3od UYdl Ud 3=d 99
802437397.

= UlfdRIeddr vd = 99
802437398.

== UldRIeSHdr ud 98 93gdn
802437399.

4 T3ydr ud 94 99d
802437400.

Question Number : 101 Question Id : 802437101 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1.32

As per Gutenberg-Richter relationship for global seismicity, how

many earthquakes of magnitude 2 will occur given the number of
earthquakes of magnitude 6 to be 100 and b value tobe 1.5 7

Options :

802437401.



104

108
802437402.

108
802437403.

1 D1D
802437404.

Question Number : 101 Question Id : 802437101 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

af¥® YHudl & AU T[ear-Raer Y9y & SR, fhd GRHAT-2

ard Yoy g1, SIaid a7 a1 § 1 UiRHTv 6 & Yeby 100 UG b &1
AH1.5%?
Options :

10

802437401.

108
802437402.

108
802437403.

1 D1D
802437404.



Question Number : 102 Question Id : 802437102 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

In case of resistivity sounding over multi-layered earth if A¢(%.) is
the kernel function then the correct relationship between
resistivity transform function ‘T(») and Ai(r) is (p1 is the
resistivity of the first layer)

Options :

T()= p1{1+2A1(2)}
802437405.

T(2)= p1{1+A1(1)}
802437406.

T(:)= p1+{1+2A1(1)}
802437407.

T(n)= pr+{1+A1(1)}
802437408.

Question Number : 102 Question Id : 802437102 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

U dg-d5 YW & SR UicRieddr TR A9 & g 3 3fe Aq(2,)
Hid B &, a9 UaRIYEHdl =UIaR Bl ‘T(.) TUT Aq(2) & g el

Y BT (UYH T8 B UTaRIuddl o1 ©)

Options :

T(L)= pi{1+2A1(1)}
802437405,



T(2)= p1{1+A1(1)}

802437406.

T()= p1+{1+2A4(2)}
802437407.

T(L)= pr+{1+A1(1)}
802437408.
Sub-Section Number : 3
Sub-Section Id : 8024375
Question Shuffling Allowed : Yes

Question Number : 103 Question Id : 802437103 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Sediment rating curve represents the relation between

Options :

sediment yield and catchment area.
802437409.

sediment transport rate and water discharge.
802437410.

sediment concentration and total dissolved load.
802437411.

sediment delivery rate and relief-length ratio.
802437412.

Question Number : 103 Question Id : 802437103 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1.32

3ATG &X (YR 9h 5 st & Tay &1 Ufdfdd s3dr g

Options:

3[qqIg 341G Ud Sidig &

8024374009.
a C

3G URde &2 U9 oid Jodvi]
802437410. Q 1:{‘_3[

39U Higdl U4 $d gd R
802437411.

3[aYTe &1 ¢ Ud 3=d[ad-dalg
802437412.

Question Number : 104 Question Id : 802437104 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Match Képpen's climate symbols with climate types.

Koppen's symbols Climate types
A | EF L | Continental Dry Summer
B | Ds M | lce Cap
C | BS N | Savanna
D | Aw/As O | Steppe
P | Tropical Rainforest

Choose the correct option.

Options :

R0, B—=N G =L, =P
802437413.



A-L B-P,C-—M,D—N

802437414,

A-M,B-L,C-M,D-P
802437415,

A-M,B-L C-0O,D-N
802437416.

Question Number : 104 Question Id : 802437104 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

DI & TAd Udih! Bl STefdrg UbRT H e B

DI & Udih Sddg UhR
A | EF L | FeTaidia Ied de
B | Ds M | feF=a<
C | BS N | HdHI
D | Aw/As o | XU
p | IWGfcdsy aufaq
el fadhed &1 7 |
Options :
A~0, B—N C~L, D=P
802437413.
A—L, B-P C-M,D—N
802437414.

802437415.



A-M,B-L, C-M,D-P

A-M,B-L C-0O0,D-N
802437416.

Question Number : 105 Question Id : 802437105 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Statement A: The tropics experience large annual temperature

variations.

Statement B: Highest values of annual temperature range
occur in the middle of large landmasses in the
subpolar latitudes.

Choose the correct option.

Options :
Both are true
802437417.
Both are false
802437418.
802437419, A is true but B is false
A is false but B is true
802437420.

Question Number : 105 Question Id : 802437105 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



YT A: IU@Icay G aiffe dIHH 95a1d &1 FHd Hd ©

S B: UL iRl H 95 YU o o9 H aritfe daroEH gk
& I=ddq A fHdd §

Yol S I |

Options :

802437417.

aHlTTad §

802437418.

| AYel g, dfPIB Tad &

802437419

ATAd g dfbTB Bl ©

802437420.

Question Number : 106 Question Id : 802437106 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Which one of the following values of hypsometric integral

denotes maximum erosion of a drainage basin area down to its
base level?

Options :

0.18
802437421.

0.44
802437422.

0.51

802437423.



802437424. 93

Question Number : 106 Question Id : 802437106 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

= fod I=gareell A= & 7F 3 3 $F 91 U6 SaHe! siE
& & T 3MYR TR P I=adH IRe DI (H5fud HId1 672

Options :

0.18
802437421.

0.44
802437422.
802437423. U1
802437424, 91

Question Number : 107 Question Id : 802437107 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



Match the geomorphic features with the geomorphic processes.

Geomorphic feature | Geomorphic processes
A | Cockpit o Coastal
B | Moulin M Fluvial
C | Runnel N Glacial
D Talik 0 Karstic
P Periglacial

Choose the correct option.

Options :

A-O,B-N,C-L D-P
802437425.

A-P,B-L,C-MD-L
802437426.

A-O,B-M,C-L,D-N
802437427.

A-0O0,B-P,C-N,D-P
802437428.

Question Number : 107 Question Id : 802437107 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



Y-3Mhidd ATh Rl & 1Y Yhidd Ufhars &1 e $1:-

A | PiBIUC L acla
B |HdH M| T
D | cifa® o | el
p | URfeHTEIE
ol [dbed Dl I |
Options :
A-O,B-N,C-L D-P
802437425.
A=P,B=L.C—=M, D=L
802437426.
A-0,B-M,C-L,D=-N
802437427.
A-O,B-P,C-N,D-P
802437428.

Question Number : 108 Question Id : 802437108 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



Match the earth scientists who were the first to propose the

geomorphic concepts.

First proponent Geomorphic concept
A | A. Linton L | Etchplanation
B | B. Willis and E.J. Wayland | M | Morphogenetic region
C |J. Budel N | Slope replacement
D |W. Penck Q | Slope retreat
P | Theory of tor formation

Choose the correct option.

Options :

A-O,B-N,C-L, D-P
802437429.

A-P,B-L,C-M, D-N
802437430.

A-0O0,B-M,C-L, D-N
802437431.

A-O,B-P,C-N, D-P
802437432,

Question Number : 108 Question Id : 802437108 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



3 YDA dRIHDI [or6i 37 YPlid Yheaeil BT Tgdl aR

TRdTldd foha, ST &1 Tel e &2 |
T UMD Y3HTDidD Y]
A | T fame L | e wedeH
g |dl.faftmuds. d.dds |y | SET f9em &F
c |9.93d N | S UiaRITgH
D |5, Ud o | eaH amgdl
p | TR & 34 & [igid
el [dded &l 7 |
Options :
A0 BN CL, D=P
802437429.
A-P,B-L,C-M, D-N
802437430.
B~ 8 M1 DN
802437431.
A-0,B-P,C-N, D-P
802437432.

Question Number : 109 Question Id : 802437109 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



Assertion (A). Coasts tend to become sandy to muddy as tidal

range changes from meso to macro.
Reason (R): In tropical coasts, mangrove vegetation is
conducive to deposition of fine sediments.

Options :

Both A and R are true and R is the correct explanation
802437433.

Both A and R are true but R is not a correct explanation
802437434,

802437435, A is true but R is false

802437436. A is false but R is true

Question Number : 109 Question Id : 802437109 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

HU (A): SO AR IR 797 ¥ o &1 9aad 6, GHgdc
I Y UDF SN G |

HYA (R): I dicaeii del o T3l gTaiaal g&1 a9l &
f&raur & fofu 3% il &

Options :

A TYT R GIHl Hel §, Ud R Yol oURHAT

802437433.

A TR HI U8l 8, Ud R ! oIReAT 161 ¢

802437434.

802437435.



A I8! & U= R 7Tad ¢

802437436.

A TTdd § UR=] R gl 5|

Question Number : 110 Question Id : 802437110 Question Type : MCQ Option Shuffling

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Identify the correct sequence considering cause and effect

relationship in the Indian context.

Options :

802437437.

802437438.

8024374309.

802437440.

Malnutrition — High morbidity — Low per capita income —
High mortality

High morbidity — Malnutrition — Low per capita income —
High mortality

Low per capita income — Malnutrition — High morbidity —
High mortality

Malnutrition — Low per capita income — High morbidity —
High mortality

:Nols

Question Number : 110 Question Id : 802437110 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



HRU UG YR Yo § BRI TG UYTE &1 & 3194 gU Yol HH Bl
UgdH

Options :

HUNT - I=d BT - [ Ufd afad 31 - I=d g &
802437437.

3= BT - HUNU] - [ Ufd Afad 319 - I=d § &3
802437438. - Jﬂ(b'l’

=1 Tfd AldT S - HUINUT -I=d TN - 3= GG &
802437439.

HYINYT - [ Ul ol 3 - I S0l —» J=d Y &3
802437440.

Question Number : 111 Question Id : 802437111 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Match the columns | and Il.

Column-I Column-I
(Regions) (Process)
A | Warmer forest X | Alkaline compounds
accumulate near the surface
B | Deciduous and Y | Bacterial actions and rapid
mixed forest chemical actions
C | Steppe grassland Z | Soils are less acidic
D | Humid tropics K | Leaching is less significant

Choose the correct option.
Options :

A—X; B—Z; C—Y; D—K
802437441,



K: B—Z; C—Y; D—X

802437442.

A—K; B—Z; C—X; D—=Y
802437443.

A—X: B—Y; C—Z; D—K
802437444.

Question Number : 111 Question Id : 802437111 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

HIaH | U9 PIcH || BT HTH B |

PiaH - (&) BIH -1 (k)
A [T aH X |HdE W &R U &1 §Ig0
B |Uags Ud b e | v |sitamy foramd od ga ramafs b
¢ [Ruu™ieH Z |gerd &4 o gl @
D |ad Swsfesti | K |FeTe $H Agaui glaT g
Yol fdded &I 7 |
Options :

A—X; B—Z; C—Y; D—K
802437441,

K: B—Z: C—Y; D—X
802437442,

A—K; B—Z; C—X; D—Y

802437443.



A—X; B—Y; C—Z; D—K
802437444,

Question Number : 112 Question Id : 802437112 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32
One of the following set of features correctly represents former
higher sea levels or lake levels

Options :

Estuaries, Abandoned cliffs, Mangrove swamps
802437445,

Storm beaches, Foredunes, Submarine platforms
802437446.

Strand lines, Raised beaches, Marine terraces
802437447.

Pl ' liffs, Shingle b h Spit
802437448. BRGING. Sis, obinge DESENES, i

Question Number : 112 Question Id : 802437112 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

591 ¥ NPTl B Ud GHg YdUd Jod 945 ddi a1 GRIaR dal &l
ol ©U H UG dxdl 8, 96 &

Options :

Jeqd, uRaad Y, 4919 gacd

802437445.



802437446.

gfer, 3fAd ufeq, wra afee
802437447.
802437448.

Question Number : 113 Question Id : 802437113 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

The diagram shows the vertical variation in the texture and
grading of river bank deposits. It is

Options :

Fining upwards and well sorted
802437449,

Coarsening upwards and well sorted.
802437450.

Fining upwards and poorly sorted.
802437451.



Coarsening upwards and poorly sorted.
802437452.

Question Number : 113 Question Id : 802437113 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

o, 7764 | |y URadd Td A6 d¢ [Heg &7 4uiidur g2idl ¢l
75 fearan g

Options :

JEHT giedor, Td qaie Jedd

802437449.

I AR U YA g2

802437450.

FEHT Y[EHHRT Ud ST Yudhd

802437451.

IETTH RAH0 T4 AT J2Udhd

802437452.



Question Number : 114 Question Id : 802437114 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Plateaus, mesas, buttes and pinnacles are

Options :

evaporated landforms containing sediment and salt.
802437453,

landforms of flat-lying rocks in arid regions.
802437454,

formed when mountain streams carrying large amounts of

rock waste drain into an adjacent lowland.
802437455,

flood plain features.
802437456.

Question Number : 114 Question Id : 802437114 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

U6R, 9T, 94 Ud RRaRe1ag g §

Options:

3aYTE U4 ddUgdd a1™Id YATH IO |
802437453.

ISH &F H A Qdl B YATHiaal |
802437454,

802437455.



od Ydd 4RI a1 AEAT H &4 2d &l (e il Y & 981 R
Al e, AT TG |

91 & HaM $1 i |

802437456.

Question Number : 115 Question Id : 802437115 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32
Acid rain is NOT associated with
Options :

aluminium toxicity in lakes.
802437457.

802437458, removal of nutrients from soil.

blackening of Taj Mahal.
802437459.

increase in biological oxygen demand in lake.
802437460.

Question Number : 115 Question Id : 802437115 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32
3171 N1 gD A1y Hefed ol gl

Options:



WG T g ae fauTeddn

802437457
a1 ¥ YiNe ddl &1 (BT
802437458, )
droHed B Bl il
802437459.
WIR | Sifad fifRTe 77 &1 Fg-1
802437460.

Question Number : 116 Question Id : 802437116 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Match Columns | and Il

Column-I Column-I|

A Bolson X | Low-angle foot slope with veneer
of wash material

B Bajada Y | Unconsolidated, highly dissected
materials in semiarid regions

C Pediment Z | Coalesced alluvial fans

D Badland K | A slope-and-basin area between
two adjacent ridges in a dry
region with internal drainage

Choose the correct option.

Options :

A—X; B—Z; C—Y; D—K
802437461.



A—K; B—Z; C—Y; D—X

802437462.

A—K; B—Z; C—X; D—Y
802437463

A—X; B—Y; C—Z; D—K
802437464

Question Number : 116 Question Id : 802437116 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

HIdT | YT Bidd 1l BT THA B |

CANE BicH -l
A | STcHH x| 711 101 TR0 @1 & I1Y i
gl &1 IRd
AEEEL Y | 3R & O SsrftiSd, sralesd
f[d=siad Tt
c | UStH=T > | Eied Sl U
D | S@1d Y K | 3MaRe SdfHarl & 91 th
SH &3 H G M-I & Hehl
& A9 Uh ¢aH-Ug-di &
Yol [ddbed &l I |
Options :
A—X; B—Z; C—Y; D—K
802437461.

A—K; B—Z, C—Y; D—X
802437462.



A—K; B—Z; C—X; D—Y

802437463.

A—X; B—Y; C—Z; D—K
802437464.
Sub-Section Number : 4
Sub-Section Id : 8024376
Question Shuffling Allowed : Yes

Question Number : 117 Question Id : 802437117 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

The following schematic diagram represents a glaciated terrain

with  four different points A, B, C and D. The state at different
points shown are X-Glacial lce movement, Y-Glacial plucking,
Z- Jointed bedrock, K- Abrasion and polishing. Find the
correct match.

Options :

A—X; B—Z; C—Y; D—K

802437465.

A—K; B—Y; C—Z; D—X
802437466.



A—K; B—Z; C—X; D—Y
802437467.

A—X; B—Y; C—Z; D—K
802437468.

Question Number : 117 Question Id : 802437117 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

&8 T gieFES ARE 9R A fdgell A, B, C qUTD & 914 U
fGHACd YT &I G2IidT ¢ | fafy= fogell W fexars Wit srawimd ug
%, X-[5HG A 919, Y-fgHae-4d4, Z-Uiigad 3MuR Id, K-9u0 ud
TS| Yol e e & |

.‘.._

Options :

A—X; B—Z; C—Y; D—K
802437465.

A—K; B—Y; C—Z; D—X
802437466.

A—K:; B—Z; C—X; D—Y
802437467.

A—X; B—Y; C—Z; D—K
802437468.



Question Number : 118 Question Id : 802437118 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32
Highest cation exchange capacity is most likely to be in a soil that
IS

Options :

very sandy
802437469.

low in organic matter
802437470.

sopazra, TG i clay and organic matter

silty and low in organic matter.
802437472.

Question Number : 118 Question Id : 802437118 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

SiYpaH YA faf T 39 e & Tal 1 §H &1 Gaiitid JureH
I
Options :

NIDEACE]

802437469.

802437470.



a1 gerd | =T ard

quHY U9 HraHd Terd F sifddr ard

802437471.

MIe gad Ud dldi-id gerd o ([HEdr ard
802437472.

Question Number : 119 Question Id : 802437119 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

The difference between the barotropic and baroclinic atmosphere
is that

Options :

density is a function of pressure in the former while it is a

function of temperature in the latter.
802437473.

density is a function of pressure in the former while it is a

function of pressure and temperature in the latter.
802437474.

density is a function of temperature in both.
802437475.

densitﬁf is a function of temperature and pressure in both.
802437476.

Question Number : 119 Question Id : 802437119 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1.32

&1 99! Ud g1 YafUis agHed & |id 3iak 98 oidl o

Options:

U-d Ugdl H GId &1 Bhd- Ud 971G dicd § 949 &1 B ¢ |
802437473.

g Ugd H &4 &1 Bad Ud d1G dlcl H &9 Ud dIUdH &1 Bad
e

802437474

U9 Gl O 999 &1 Bad sldl ¢ |
802437475.

Y- i H dI9HH U4 §1d &1 Ha-d 6lal o |

802437476.

Question Number : 120 Question Id : 802437120 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



The following schematic diagram shows velocities observed by a

ground Doppler radar for two atmospheric phenomena. The solid
lines indicate wind component towards the radar, the dashed lines
indicate wind components away from the radar, and the dotted line
indicates the zero isodop. Which of the following options correctly
identifies the two phenomena?

XD

Options :

(i) Tornadic mesocyclone and (ii) Cold air downburst from a

thunderstorm.
802437477.

(i) Sea-breeze and (ii) Mountain-valley winds.
802437478,

(i) Occluded front and (ii) Extra-tropical cyclone.
802437479.

(i) Butterfly effect and (ii) Coriolis effect.
802437480.

Question Number : 120 Question Id : 802437120 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



63 TR goMIee 3IvE H <l argds i gesil & fog o 4
SRR YSR GRI wafdye et o 78 €1 wefd Yar a1y e ol

{8R ®1 W, 3 W6 g ¥cdh $I 38R Y X Pl R, Td
fefgfdhd T X qSIU Bl SfTd Bl & | 594 Y D fddhed 3
&l ge13fl @I Fgl UgdHdl 62

(1) (il

- -

Options :
(i) ERAST Gfgd Ae-Iehdrd Ud (i) U dfsd iz id 9
3[YIUShIC

802437477.
(i) 9% 9HR T4 (ji) ydd-91ct yad

802437478.

(i) 3ffafase 3131 U4 (ii) arel 30T hicag Ihdrd

802437479.

(i) Tadelt wura ug (i) SIREfEad gue

802437480.

Question Number : 121 Question Id : 802437121 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



Choose the INCORRECT option in the following statement.

Assumption of hydrostatic balance in the atmosphere leads to the
following inference :

Options :

Coriolis force is not important in vertical motion.
802437481,

Vertical acceleration is absent.
802437482.

Vertical motion is absent.
802437483.

There is a perfect balance between upward directed vertical

pressure gradient force and downward directed gravity force.
802437484.

Question Number : 121 Question Id : 802437121 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

{68 gU Sy H ¥ TTerd [dbed &I |
agHSd ¥ gawifded Yqa- i deudl 38 A $I IR Giil -

Options :

Seafer 7 § SIRkaiferd sa ggayef 981 31

802437481.

IR TROT SRR T

802437482.

3R T1d SRR g

802437483.



3R MG I@ier e/ Yauidl §a T4 FAEE MR
Ed 90 & d1d Gol YdeH ¢l

802437484.

Question Number : 122 Question Id : 802437122 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1.32

Choose the INCORRECT option.
In the geostrophic approximation,

Options :
pressure gradient force is in balance with Coriolis force.
802437485,
it fails at equator.
802437486.
it holds good in mid-latitudes.
802437487.
Coriolis force varies linearly with latitude.
802437488.

Question Number : 122 Question Id : 802437122 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

9 I Ted fadhed &1 I |

Yigaqur gfaded o



Options :

SR 99 S Y T« AU SA ST A © |

802437485.

f[dYyad R g f[Awd s g |
802437486.

Te-3{&f12 TR I8 3= AN BIdr e |
802437487.

31&i=Tl & 1Y HIR 3oy 9 IP Seadi g |
802437488.

Question Number : 123 Question Id : 802437123 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Occluded front occurs when

Options :

cold front overtakes warm front.
802437489.

warm front overtakes cold front.
802437490.
802437491, cold air mass overtakes warm air mass.
80243749;. V@M aIr mass overtakes cold air mass.

Question Number : 123 Question Id : 802437123 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

3ifIfass arary gr 9l §, o6

Options:

=iiad arar, &1 9arl I HF 96 Sildl 6 |
802437489.

DI IR, RATdd ardi Y 31 §¢ Sl o
802437490.

sffde ard I, ST 91 AT B 3FT ¢ oI ¢ |
802437491.

DINT g1 1T, AT a1 A 311 9 ST 6|
802437492.

Question Number : 124 Question Id : 802437124 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Choose the correct option from the following statements.
Relaxation methods are

Options :

used to solve parabolic partial differential equations.
802437493.

used to solve hyperbolic partial differential equations.
802437494,

802437495.



examples of iterative methods that are used to solve elliptic
partial differential equations.

examples of direct methods that are used to solve elliptic

partial differential equations.
802437496.

Question Number : 124 Question Id : 802437124 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

fed Yy O gl fawey g |
fagifa fafem

Options :

RIS D ATDH GHIHU & JHIYH H UGN gldr gl

802437493.

IIRIAAD D SFHd GHIHI & FHIYH H T g 6|

802437494,

ORI [Af¥ & 3aTeRvI & Sl Sidafd siifid sradba- i
& qHTYE H Ugi gidT o

802437495.

g fafY & IR0 & Sl arHghrd iR GHIGR0 & THIUHE
H TR TS

802437496.

Question Number : 125 Question Id : 802437125 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1.32

The horizontal wind in the planetary boundary layer is the
resultant of

Options :

gravity, Coriolis and centrifugal forces.
802437497.

pressure gradient, gravity and Coriolis forces.
802437498,

Coriolis, pressure gradient and friction forces.
802437499.

centrifugal, Coriolis and friction forces.
802437500.

Question Number : 125 Question Id : 802437125 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

yeig oA TR # &fas 9y s gRkone gt e

Options :

Tod, DIRANTY Ul SUdhiad §a
802437497.

aId JurdT, T dYT HIRFIAY §¢
802437498.

PINTIC, STd UgurdT a1 9o acl
802437499.

802437500.



UG, BRI TUT 9N gt

Question Number : 126 Question Id : 802437126 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Which one of these moisture variables will increase in a
rising parcel of air?

Options :

Mixing ratio
802437501.

Relative humidity
802437502.

Vapour pressure
802437503.

Specific humidity
802437504.

Question Number : 126 Question Id : 802437126 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

A0 U B 1 U T4 IR I3d 9 A H F¢71?

Options :

802437501.



TTUef 3Tgdl

802437502.
d¥] qld

802437503.

802437504, '

Question Number : 127 Question Id : 802437127 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Diabatic thermodynamic processes can heat or cool the air at

different rates. These processes include

A. Radiative heating/cooling.

B. Conduction from the surface.

C. Turbulent mixing.

D. Latent heat released/ absorbed due to phase change.
Choose the correct option

Options :

Ais true.
802437505.

A and B are true.
802437506.

A, B and C are true.
802437507.

A, B, C and D are true.
802437508.



Question Number : 127 Question Id : 802437127 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

PR ETARURRACRIINCAR ERIN G IE CARGIR I R R PR R RV GINE
P G g

A. fafdor droH/Riiae

B. Tag T dIcidhl

C. 3{27id Ao

D. WY §ead & HRUN G &1 S Hfdkd/Haiu]
el fdhey @I g

Options :

AdSl B
802437505.

AdUTB TGl ©
802437506.

A BdUIC Il g
802437507.

A B.CdY¥ID3Igl ¢
802437508.

Question Number : 128 Question Id : 802437128 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Statement A: The duration of Indian summer monsoon

increases from south to north.
Statement B: The amount of Indian summer monsoon rainfall in
the northern plains decreases from east to west.



Options :

Both A and B are true
8024375009.

Both A and B are false
802437510.

A is true, B is false
802437511.

A is false, B is true
802437512.

Question Number : 128 Question Id : 802437128 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

HYF A: URATT T AU BT GAY-3RTA G101 ¥ ek Bl 3R
JGdI gl

HYF B: Iak| HaH H YR T AFYA ayi g 9 Uigd 3t 3R
gedl g

Options :

A YT B aHl Jel &

8024375009.

A dYT B S Tad &
802437510.

AYE 8, BAd @

802437511.

802437512.
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Question Number : 129 Question Id : 802437129 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1.32

In numerical weather prediction models with hydrostatic
approximation, vertical velocity can be

Options :

calculated from the Navier-Stokes’ equation
802437513.

calculated from continuity equation
802437514.

assumed to be zero
802437515.

assumed to be constant
802437516.

Question Number : 129 Question Id : 802437129 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

SqRI{dd YlAde & G Y 4199 Urlfad Hisd | SR
NIREIKH]

Options :

IR TeTd & GHIGRU T 70T 81 bl ol

802437513.



IIdd Griiep0r Y 0T g bl 2

802437514.

9= BIH &I B ol FHdl g
802437515.

R g 1 Heu1 ol TPl o
802437516.

Question Number : 130 Question Id : 802437130 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Cyclogenesis in Northern hemisphere is associated with

A. sea level pressure decrease
B. upward motion increase

C. relative vorticity increase
Choose the correct option

Options :

A is true, B and C are false.
802437517.

A, B and C are true.
802437518.

A and B are true and C is false
802437519.

A, B, and C are false.
802437520.

Question Number : 130 Question Id : 802437130 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

St i H Tehard S 5 91 Hefid B 9dhdl ©

A. T dd &9 &1 gel
B. 3EiR Tfd BT afs

C. e YHedr &1 9
ol [dh ey 1 g4 |

Options:

ATl T, BAUICIaAd &
802437517.

A BdYIC ol o

802437518.

TS
802437519. AT B Wl ©, T C 1A &

A B dYICidd o
802437520.

Question Number : 131 Question Id : 802437131 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

refers to the horizontal transport of air while
is the vertical transport of air.

Options :

Advection, convection
802437521.

802437522.



Convection, advection

Propagation, transportation
802437523,

Velocity, updraft
802437524.

Question Number : 131 Question Id : 802437131 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Uad & &fder ukag &l Yefifd oear ¢ Jefd
Uq BT JeaieR IRagH g

Options :

3fHgg-, dde-
802437521.

Jagd, Hibdged
802437522.
802437523.

Tfd, a1
802437524.

Question Number : 132 Question Id : 802437132 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



The chemical cycles that correspond to the catalytic destruction

of the stratospheric ozone are
A. CI/ CIO cycle.

B. NO/ NO: cycle.

C. SO/ S0Os cycle.

D. OH/ H20 cycle

Choose the correct option.
Options :

A and B
802437525.

A, BandD
802437526.

802437527. Cant b

AandC
802437528.

Question Number : 132 Question Id : 802437132 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1.32
YA Hed SISl & IR0 [A1=1 DT 3390 I IGAHE b

Ao
A. Cl/ ClO T%

B. NO/ NO, ddb
C. SO,/ SO3 ddh
D. OH/ HO d&b

! f[dbed &l I+ |

Options :

dyr B
802437525.



A BddliD

802437526.

CdyiD
802437527.

Adyl C
802437528.
Sub-Section Number : 5
Sub-Section Id : 8024377
Question Shuffling Allowed : Yes

Question Number : 133 Question Id : 802437133 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

What will be the virtual temperature of an unsaturated air with
temperature of 35°C and mixing ratio of 30gwater/kQdry air?

Options:

40.0°C
802437529.

40.2°C
802437530.

40.4°C
802437531.

40.6°C
802437532



Question Number : 133 Question Id : 802437133 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

350C TGHT U4 30gse /kgere arg (Y01 3UTd & 1Y Tdh
3 R T STHIIT dTIHT 1 gIT?

Options :

40.0°C
802437529.

40.2°C
802437530.

40.4°C
802437531.

40.6°C
802437532.

Question Number : 134 Question Id : 802437134 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Which of the following statements related to the tropical easterly
jet over Indian subcontinent is INCORRECT?

Options :

It is formed due to the reversed meridional temperature

gradient.
802437533.

802437534, It is located over Peninsular India.



The northeast monsoon rainfall increases with the

intensification of the jet stream.
802437535.

802437536, It is found at an altitude of 14 — 16 km.

Question Number : 134 Question Id : 802437134 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

YR SUHGTEIY & IR 3] Bicae ydf oie 4 el HH a1
Y T 62

Options :

g5 Ichiid AR II9H Yaurdl & ROl §-1d7 6 |
802437533. )
802437534, qﬁr a’j %]

I YRT & Iabedl & 1Y I«iRydl HFYA a9] 9gdl 6 |
802437535.

g8 UH 14 — 16 km SaTs IR Hdd B
802437536.

Question Number : 135 Question Id : 802437135 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



If a column of seawater moves from high latitude to low latitude
(equatorward movement) then the relative vorticity of the water
column will

Options :

increase
802437537.

802437538. decrease

remain unchanged
802437539.

increase up to 30° latitude and then decrease
802437540.

Question Number : 135 Question Id : 802437135 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

3R U T el D &Y Jod &/ Y [ 319 o RE (fayad
P! R AGAH) TN &, 76 oI WH DI e e

Options :

el

802437537.

802437538.

@1 DI URad- 7l grm

8024375309.



30° 3{&IR dP Fell AR I d1G gl

802437540.

Question Number : 136 Question Id : 802437136 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Which direction of meridional wind stress would cause coastal
upwelling at the West Coast of India (WCI) and West Coast of
Australia (WCA)?

Options :

Northward at WCI| and Southward at WCA
802437541.

802437542, Southward at WCI and Southward at WCA

Northward at WCI| and Northward at WCA
802437543.

802437544, Southward at WCI and Northward at WCA

Question Number : 136 Question Id : 802437136 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

JRIGR ar Wi @ & Al R 4T & Ui%H d¢ (Wel) ud
SHIECTerar & Ui d¢ (WCA) TR Iodul & ferd HRuy giit?

Options :

WCI TR IR Pt 3R Td WCA TR G0 &1 3R

802437541.



WCI U= iU T 3R Ud WCA TR GIEU &l 3R

802437542.

sopazresg, WCI TR IR P 3R WCA TR IR Bl 3R
WCI TR &0 &1 3R Td WCA IR 3R Bl 3R

802437544,

Question Number : 137 Question Id : 802437137 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Statement A: Ekman pumping velocity in the ocean is
proportional to the curl of the wind stress.
Statement B: Low salinity water from river runoff and
precipitation reduces mixed layer depth.
Choose the CORRECT option from below.

Options :

Both the statements are true but B is not a correct explanation

of A
802437545,

Statement A is false, statement B is true
802437546.

Statement A is true, statement B is false
802437547.

Both the statements are true and B is a correct explanation

of A
802437548.



Question Number : 137 Question Id : 802437137 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

HYF A: GHg J UHH UYH Td, a1g Ulded & $d & GHHIIAS © |
HY B: a1 dTg gRI 4+ qauily s/d ug auur, fifsd dg & TR

DI PP G |
At fad ugl fdded &l g |

Options :

| S PUT I, Td A B 9E AT B el ©

802437545

HUTATAd o, PUTB Tel ©
802437546.

FUTATel &, YT B Ad ©
802437547.

2l HYT Tl 6 Ud A @I gl AR B §

802437548.

Question Number : 138 Question Id : 802437138 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



Match the Type of flow/circulation’ in Column | to their most
relevant Oceanic process/condition in Column II.

Column | Column |l

P | Barotropic T | Pressure gradient and Coriolis forces are
flow in balance

Q | Baroclinic U | Surfaces of constant density and constant
flow pressure intersect at some angle

R | Geostrophic V | Sinking motion of water at selected high
flow |latitude locations

S | Thermohaline | W | Independent of depth in the ocean
circulation

X | Pressure gradient and gravitational forces
are in halance

Choose the CORRECT option
Options :

P-U, Q-T, R-X, S-V
802437549.

P-W, Q-U, R-T, S-V
802437550.

P-U, Q-W, R-T, S-X
802437551.

P-W, Q-U, R-X, S-V
802437552.

Question Number : 138 Question Id : 802437138 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



Hiad | T Ge-/IRER BT UhR' &1 Diad || § I7d Fad Iug
AR ERIE I EANE RIREGRY

iy | GAGER]
P | Yl Ydrg T | <9 YA Ud Siivaiferd oo
g e
Q | qEWaltd uaE | y | R ¥ U RR T 3 Udg
U W & fddl DI R B1c
R | fderdi vt v | T 3= i R S @
3aydrg TIid
S | dIY-equrdr w | Tz R ¥ @l
URERO
X | 19 Yavial ud eyl ad
NESERE
el [dded &1 IH1d B2
Options :
P-U, Q-T, R-X, S-V
802437549.
P-W, Q-U, R-T, S-V
802437550.
P-U, Q-W, R-T, S-X
802437551.
P-W, Q-U, R-X, S-V
802437552.

Question Number : 139 Question Id : 802437139 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



Which one of the following options correctly represents the
relationship between oceanic surface Ekman layer depth (Dg),
surface wind speed (U), and latitude (¢)?

Options :

Dex U, Dex 1f¢
802437553,

De o U, De inde[ﬁendent of ¢
802437554,

Deoc1/U, Deox 1/ ¢
802437555,

Deoc U, DEx ¢
802437556,

Question Number : 139 Question Id : 802437139 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

79 ¥ B 1 U6 [ded 9151 9ag UhHH dg THRAT (De), 98
AN (U), TS SHETRT () o ol Hae b el Hicl 18 ol 62

Options :

Dexx U, Decxx 1/ ¢
802437553.

De « U, ¢ T WA De
802437554.

Deox 1/U, Deex 1/ ¢
802437555.



Dex U, DEx ¢
802437556.

Question Number : 140 Question Id : 802437140 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Statement A: Siliceous sediments are abundant on the deep
ocean floor at high latitudes.

Statement B: Radiolarian are more abundant in high latitude
waters.

Options :

Statement A is true and statement B is untrue.
802437557.

802437558, Statement B is true and statement A is untrue.

Both the statements are true but B doesn’t explain A.
802437559.

Both the statements are true and B explains A.
802437560.

Question Number : 140 Question Id : 802437140 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Y A: Iod &l R TR G5 e W Rfen s@we sfddar i
gl e
®HYH B: Ied eI ol 1 IS TNE Sare] sifeddl § gl 6|

Options :




YT A Fel ¢ Ud HUT B TTdd ©

802437557.

BT B 9e! ¢ Ud DY A T ©
802437558.

GIHl B Fel & U A ©1 ARAT B gl DRl &
802437559.

GHl HYF gl § U A B ARAT B IRl &
802437560.

Question Number : 141 Question Id : 802437141 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Which one of the following is NOT true?

Options :
Primary production occurs up to 125 m in open ocean
waters, while in turbid coastal waters a few meters to tens
of meters.

802437561,
Light absorption depends upon water, suspended material,
dissolved organisms, phytoplankton.

802437562.

Primary productivity in the Arabian Sea is primarily limited

b hosphate.
802437563. y P P



Upwelling makes the Arabian Sea one of the highly

productive regions.
802437564.

Question Number : 141 Question Id : 802437141 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32
[efeiRaa o ° 19 91 9g! 81 62

Options :

Gl Y4z ofd H Ui 316 125 m dd gidl &, i Uldd
e oidl § $@ Udh HIer ¥ SRl e d& sidl o

802437561.

oid, Fdferd Il 9d Sita, Uiey Wdd U UhT=T A=yl
MR Far sl

802437562.

3RE YR § UIH$ IAEHd 53 U ¥ Bihe gRT I
GRS

802437563

IHAU 3Rd TR & TP 3=J IAICHdl &F a1 o
802437564,

Question Number : 142 Question Id : 802437142 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



|dentify parameters A, B and C in the schematic depth profile of a
tropical oceanic basin.

Parameters ——

0
-

Depth {m)

2000 |

Options :

A —[CI], B — [Oxygen], C — [nutrients].
802437565.

A — [chlorophyll], B — [nutrients], C — [Na']
802437566.

A — primary productivity, B — [Pb], C — [Fe]
802437567.

A — primary productivity, B — [Fe], C- [Pb]
802437568.

Question Number : 142 Question Id : 802437142 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



U IWIhics e GHg! afH & THRd urdfas @ § A, BTG C
HIUC Sl &I Ugng|

Parameters —
na‘” i __:_,
: |- |
3 ¢
2000 I
Options :
A —[CH, B — [il[aiH], C — [A¥® dd].
802437565. [CH, [ S g
A - [90igRd], B - [U¥® dd], C — [Na*]
802437566.
A - UTY8ed Idladdl, B - [Pb], C — [Fe]
802437567.
A - UTY[He IdIGHdI, B - [Fe], C- [Pb]
802437568.

Question Number : 143 Question Id : 802437143 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



Match the following marine organisms with their sizes

Marine organisms | Size range (m)
A |Zooplankton |E |10°-10"
B |Virus F |10°-107
C | Bacteria G |[10%-10°
D |Phytoplankton |H | 107 -10"°
Options :
A-F,B-G,C-H D-E
802437569.
A-F,B-E,C-H D-G
802437570.
A-HB-G C-F D-E
802437571,
A-G,B-H C-E,D-F
802437572.

Question Number : 143 Question Id : 802437143 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

FAferRad 9ggl offal & 39d PRI ¥ UdaH &L |

RECESIE AHR YRR (m)

A | TG E [106-104

g | faum F |105- 102

c |Siam G |108-10%

D |YlaY Widad H |107 =105
Options :

R=F BB 0=, BE
802437569.



o T T - i SN ST M S
802437570.

h—H B—G G=F, Bk
802437571,

A~G B=H. B—E D—F
802437572.

Question Number : 144 Question Id : 802437144 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

What is the correct preference order (first one first) of oxidizing
agent for marine heterotrophs?

Options :

oxygen, sulphate, nitrate
802437573.

oxygen, phosphate, nitrate
802437574.

phosphate, sulphate, nitrate
802437575.

oxygen, nitrate, sulphate
802437576.

Question Number : 144 Question Id : 802437144 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



U WRUND! o feTU Sfffaqaxvl Tole &1 el aRadl & (Ugd aral
Ugd) 1 62

Options :

3HTFaSH, ebhe, dIgce
802437573.
802437574.

BIEHC, Helbe, Algcc
802437575.
802437576.

Question Number : 145 Question Id : 802437145 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Which one of the following statements is INCORRECT for
molybdenum (Mo) in the ocean?

Options :
[Mo] =100 nM

802437577.
Mo exists mainly in the dissolved form and has a
conservative distribution (though it is a micronutrient) in the
ocean.

802437578.

802437579.



Dissolved molybdenum exists as the molybdate (MoO4?)
anion in seawater.

Residence time of Mo is less than 1000 years in the ocean.
802437580.

Question Number : 145 Question Id : 802437145 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Tz | gifcssTH (Mo) & ot FEfiRdd 5 ¥ 9 91 Ud Hu Tg!
ol 62
Options :

[Mo] = 100 nM
802437577.

s # Mo 0 ¥U U Yo ¥U H §Idl & Ud 39! [qaru
aRad-arel & | (Tt a5 U YeA UIva ©)

802437578.

Tl S 4 el Alfciss 4, Aifissc (MoO42) BUMEH & ¥4 I
BT g |

802437579

g H Mo &1 &y 9 1000 99 Y HH BIAT 6|

802437580.

Question Number : 146 Question Id : 802437146 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



Given profiles are schematic for the surface waters in northern
temperate latitudes. Identify A, B, C and D parameters.

. B A
Y "x"‘l ]
% | g -
i \‘ )
¥ X & /
| e s
E I.' 1:_/"_ ‘x\.. !
% : o f
£ : f
2] ! 41l \\\ r !
o I ¥ 4 F,
2 ."l ’I?Y | o -'{f I g e
.-:.l - ');J.-"r .| e = F_"\\
| P i P
& - L e e e o LE- ,\K\"'\-\__"
Jan June Dec

Options :

A — Nutrients, B — Phytoplankton, C — Zooplankton, D — Sunlight
802437581.

A — Sunlight, B — Phytoplankton, C — Nutrients, D — Zooplankton
802437582.

A — Zooplankton, B = Phytoplankton, C — Chlorophyll, D = Sunlight
802437583.

A — Sunlight, B — Phytoplankton, C — Nutrients, D — Chlorophyll
802437584, 9 yiop Py

Question Number : 146 Question Id : 802437146 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



U uRdRa I 2fdr 3reiw & Ide 5Td & o 3RW ©, A,
B, C Ud D HIUcaS! &l UgdH |

s, B Tk
AR 4
f 1lli g
0 i O 7
o [ g'lil ’i fx
1 7/ /' "~ d T
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Jan June Dec
Month
Options :
A - UIN& dd, B - GlgUwldd, C - WIUIadd, D — 9 [l
802437581.
A - g4 {1, B - UIeUwdd, C - UN® dd, D - Wiftled®
802437582.
A - UIUIdd, B - UleUdds, C — quigiRd, D - & [0
802437583.
A - g {1, B - UlGUwWdd, C - 9N dd, D - UuieRd
802437584.

Question Number : 147 Question Id : 802437147 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32



The chaetognath Sagittci elegans consumes 10 mg of copepods
per day and produces 2 mg of faecal material per day. What is
the assimilation efficiency of this carnivore?

Options :

20%
802437585,

40%
802437586.

60%
802437587.

)
802437588. 80%

Question Number : 147 Question Id : 802437147 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

e YMSH! Tl Hidfed 10 mg HIUS Bl Tg0 HXd § Ud
yfafed 2 mg Ad I IAMMGd B g1 39 ARIER] &1 WiliHRl
cardT T gl

Options :

)
802437585. 20%

40%
802437586.

0,
802437587, 0070

802437588.



80%

Question Number : 148 Question Id : 802437148 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Which of the following statements is INCORECT?

Options :
Hydrothermal event plumes represent continuous venting
of material, gases and magma.
802437589.
Hydrothermal event plumes are larger but transient plumes.
802437590.
Hydrothermal event plumes often travel thousands and more
meters above its source.
802437591.
Hydrothermal event plumes are often associated with
formation of new volcanic mounds.
802437592.
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Question Mandatory : No
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Question Number : 149 Question Id : 802437149 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Choose the correct match between the columns | and Il

Column | Column Il
A | Littoral Zone | | A flat topped ridge on the beach face
formed by the deposition of beach
material by wave action.

B | Foreshore Il | A group of linear depressions that run
parallel to the shoreline.
C | Runnel [l | Zone between seaward boundary of land

vegetation and to a point in the sea
where sediments are not disturbed.

D | Berm IV | Part of beach that is exposed during low
tide and submerged during high tide.

Options :

A-lll; B-IV; C- II; D-l
802437593.



A-1V; B-IlI; C-I; D-

802437594
A-1V; B-lll; C-II; D-I
802437595.
A-l; B-II; C-llI; D-1IV
802437596.
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Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32
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Options :
A-Il1; B-1V; C- |I; D-I
802437593.
A-1V; B-lll; C-I; D-II
802437594.

A-1V; B-lll; C-II; D-
802437595.



A-l; B-II; C-llII; D-1V
802437596.

Question Number : 150 Question Id : 802437150 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1.32

Choose the correct match between the columns | and Il:

Column | Column |l

A | Active Margin | | It is formed when separated
continental tracts move perpendicular
to the coastline.

B | Rifted Margin Il | It develops when rifting is oblique to
the coastline.
C | Sheared Margin | [ll | Itis formed when continental breakup

is associated with strike-slip faulting.

D | Transtensional |1V | Itis found on the edge of continents
Margin where subduction occurs.

Options :

A-l; B-1V; C-II; D-Ill
802437597.

A-1V; B-I; C-lII; D-II

802437598.

A-l; B-llI; C-II; D-IV
802437599.

A-1V; B-IlI; C-I; D-
802437600.
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Options:

802437597.

802437598.

802437599.

802437600.

A-1; B-1V; C-II; D-llI

A-1V; B-I; C-lII; D-II

A-1; B-lll; C-Il; D-IV

A-1V; B-lllI; C-I; D-lI




